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Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367425
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983676825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of

the given pair.

Choose the correct alternative.
Drone : Bee :: Bullock : ?

Options:
1. = Duck

? w Witch

4. « Heifer

Question Number : 1 Question Id : 9983676825 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

L1 % T AN T A Y wedt F AT ve fAfRed wew B AR & gud AN ve e fomm e g,
et T 17 Reed! # & gEU o TS § [S@FT 37 oeg F WY I gay g S v aw A %
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Options:



Question Number : 2 Question Id : 9983676826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
There is a certain relationship between two given numbers on one side of : : and one number is given on another side of

: : while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.

17:374::29: 72

Options:
1. = 242

7 % 224

3. % 338

A o 986

Question Number : 2 Question Id : 9983676826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



D1 % U HR & g WEE & @9 ve AfReg ®ew g, 3R ;0 F gEY AN Us e & 4R g, TR
feT 1w foreal § @ 98 T @S ¢ Swe 35 9w ¥ 98 g99 g o RU o S fr gt
dr B

e 7 & e Reew I

17 : 374 :: 29 : 7

Options:
1 % 242
2« 224
3« 338
4. «» 986

Question Number : 3 Question Id : 9983676827 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words
and hence belongs to the same group.

Pitch : Gallery : Parlor

Options:
1. ® Cricket

2 w Chapter

3.« Casino



4. % Umpire

Question Number : 3 Question Id : 9983676827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TREI AT wear 1 U Heg fear wmam g faw erv fawedt @ aw ereq g+ S fiw aw erect
WA & 3R 36 FeR 3U FAE § @arod @l

e @ Fed : aeR
Options:

1. = fFaee

2&.&%"??

Question Number : 4 Question Id : 9983676828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A group of three interrelated numbers is given. Choose a numbers from the given alternatives that is similar to the given

numbers and hence belongs to the same group.

137 : 149 : 163

Options:
1. = 180

7 % 135



3. ¢ 179

A = 189

Question Number : 4 Question Id : 9983676828 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e e TEftE gEust #1 v wag o o 21 few ae feedt @ a7 e g9 S & 9w
& FAS & AR 5§ IHR 36 §Ag ¥ FErd @l

137 : 149 : 163

Options:
1 % 180
2 % 135
3. v 179
4 % 189

Question Number : 5 Question Id : 9983676829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Heart, Liver, and Kidney?
Options:
1. =% Ear

? s Nose

3. % Toe



4l « Bladder

Question Number : 5 Question Id : 9983676829 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fr=fafla & & 721 763, I%a 3R 3575 ¥ FAST WA 872

Options:
1. = =
7. % @R

4, » TRE

Question Number : 6 Question Id : 9983676830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair

in which the words are differently related.
Options:
1. % Brim:Edge

2w Alight : Descend

3 Moum : Rejoice

4. » Fallacy :Illusion

Question Number : 6 Question Id : 9983676830 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
eal % AR S AT v § BH ® @9 S & eeal % 9= v Afvea v e way gl 9 e g9
S oo e 9o ¥ ET @efag F

Options:

1. = FR : A

2. % 3T . el

3 o U HEE

4. = E'Fl:o"f?-lé-"%]ﬁ

Question Number : 7 Question Id : 9983676831 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Four pairs of numbers are given out of which the numbers in three pairs bear a certain common relationship. Choose the

pair in which the numbers are differently related.

Options:
1. % 53-132.5

YV o Fi-313

A % 42-105

Question Number : 7 Question Id : 9983676831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= 9 §ETET & FE fu v g, OFH ¥ 8 FE # gt & 9= v AREd g6 §9Y gl 98
st o omd wEE e YR § WER #6Ud g

Options:
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4. % 42 - 105

Question Number : 8 Question Id : 9983676832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
My school is in the East of my house. Temple is North of my house and Market is South of my house. If all are at equal

distance from my house. in which direction the Temple is with respect to the Market?
Options:
1. = East

? « North
3. % South

A = West

Question Number : 8 Question Id : 9983676832 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT fagmmes A W A 7 er # & AR #Y W Fr 3o fGar 7 € 3k w37 W Fr gf@or
AP IR T W N W T A g0 RE, & AR, 79X & w9 & onw Ren 5 w2

Options:

1.« ®

o~



Question Number : 9 Question Id : 9983676833 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Sachin, Sahil, Sandhya, Sani. Sanju. Saurabh, Shweta and Sunil are sitting around a round table in the same order for

lunch at equal distance. Their positions are Anti-clockwise. If Sandhya sits facing East, then in which direction Sahil is
facing?

Options:
1. #= North - East

? % North - West
3.« South - East

A = South - West

Question Number : 9 Question Id : 9983676833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR, Wifge, e, T, O, O, edar AR e sl FR AR F aea s Rr e Ma a7 &
TR AT FAS gRAT W 98 §1 3R AT A g IR Wedm 9@ #7 AR #g w4 487 g, o ded
# Heg e fGar #r 3w 27

Options:
1. = 3ol - 99

LY



Question Number : 10 Question Id : 9983676834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sheet of paper in fig X is folded to form a cube. Which will come opposite to face showing &7

&
@ |/
+ %
#*
4
Options:
1.+ @
7w %
3 % %
4 v +

Question Number : 10 Question Id : 9983676834 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

B X & 017 & TF ofic & TF g9 a9 & [orC AT 77 &1 & T2 T 5797 & @FS F47 g7

&

Options:

1. » @

2. % o«

Question Number : 11 Question Id : 9983676835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Children A, B. C. D, E. F and G are standing in a line. F is to the left of A and right of B. D is between G and B. E is

standing left of C and G 1is right of C. Who is standing at the right extreme?
Options:
1. & C



4 % D

Question Number : 11 Question Id : 9983676835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A B,C.D,E F3iRGwmIFa AW FAF TS 3N INBFaE 3 & D, GIRNBF
ST HFFIE CFaE 3T T ¢ 3K G, CF g 3T @z g1 aF 3T F 307 ok W Fig @=r 2

Options:

1. = C
2. v A
3. = E
4. = D

Question Number : 12 Question Id : 9983676836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S. T, U, V, X. Y and Z are sitting around a round table for group discussion. T is sitting third to the right of S and
between U and Z. Z is sitting third to the right of Y. V is sitting right of X. What will be the position of Z?
Options:

1. % Zissitting second to the left of T.

7 « Zissitting between T and X.

3w Zissitting second to the left of Y.

4 = Z 1s sitting fourth to the left of S.



Question Number : 12 Question Id : 9983676836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STUVXYI RZEGE T ITmmaa FRU Eaaaa F I RIS LT, S F s 3R
TR T wRawmUskzFdeddsdiz yFeE s adomr ma Wi V, X & g 3w
dar g1 Z @ fRufa a7 gef?

Options:

1 » Z TF % IR g T | IT ¢

2 o Z T3R X & &a & 337 g

3 % Z Y F IR A A g T T T ¢

A % Z, S &% AR F Y v W A B

Question Number : 13 Question Id : 9983676837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Doby is sister of John and John is brother of Shreya.
II. Shreya is daughter of Jones and sister of Jani.

III.  Doby is mother of Shreya and Jani.

If the first two statements are true, the third statement is:

Options:
1. = Tre

? « False

3 x May be true



/. % Uncertain

Question Number : 13 Question Id : 9983676837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. STET, JAeT Fr g8 ¢ AT A, ST 7 S 2
Il. 2T, SAileg Fr 9L 3HT T Fr T8 2
1. =7, S 3 STy oA g

I JUH AT FUF TeT g, ar SET FUA F4T g7
Options:

1. » WAE

2, et

3. » BT B THAT 8

4. » a7 & gd

Question Number : 14 Question Id : 9983676838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anas. Bipin, Chandan, Dev, Easa and Fatima are friends. No two friends are of the same age, but all have birthdays on
the same date. The youngest is 23 years old and the oldest is 28 vears. Easa is somewhere between Chandan and Anas.
Dev is older than Bipin. Fatima is older than Chandan. Anas is oldest and Chandan is youngest among all. If Fatima is
younger than Bipin and Bipin is younger than Easa. Then

Which of the following is true?

Options:
1. » Bipinis 24 years old



2 w [Easais 28 years old
3w Chandan is 25 years old

4.  Fatimais 24 years old

Question Number : 14 Question Id : 9983676838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3w, e, Tem, @ Sk wm A e s e mmwm s s i € g wh =
A TF & faf¥r #r 7T 81 =99 999 oer safeg 23 a¥ & 36T §ew 937 28 99 & g S| 4
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Options:

1y TafT T g 24 A §
9 % SOT HT HTg 28 AV §
3w e Mg 25 AV §

4 v IfcrAT &Y AT 24 a9

Question Number : 15 Question Id : 9983676839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What will be the mirror image of?

&)

Options:
1. % 2
@)

.®

&

Question Number : 15 Question Id : 9983676839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATy AT BT F1 S9ur wiafew T #§ ¥ FiF @ BeeT geme

)

Options:



Question Number : 16 Question Id : 9983676840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following are the criteria to recruit a Teacher in a college:

[.  The Applicant must be science graduate with 75% marks.
II. Have his/her age in between 25 to 32 years as on 10-05-2019.
III. Have a PG degree/ 3 years diploma or must have completed B.Ed. with more than 65% marks.
IV. Have minimum 3 years’ experience in Teaching.

V.  Beready to join 2 year probation.

If a candidate satisfies all the criteria except:

at [T above, but is an Arts with Mathematics graduate with minimum 72% marks and has an experience of more

than 5 years and more her/his case is to be referred to the Vice President.
at TV above, but master degree’s with minimum 60% marks, her/his is to be referred to the President.

A detail of applicant is given below in the questions. On the basis of the following decision which is based on the data

given above, mark the answer.

Sunil is a B.Sc. Graduate with 80% marks and has completed PG in Mathematics with 59% marks. He completed 31
vears of age in 2016 and has 4 years” experience as a Mathematics Faculty. He is ready to join probation period of 2

year.
Options:

1. = If case is to be referred to President.

? w If case is to be referred to Vice President.

3. = If candidate is to be selected.

4.« If candidate is not to be selected.

Question Number : 16 Question Id : 9983676840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3w FAT $H HAgw F Hgaa har S B

4 v FAT 3H HEEH 1 Aged Al fohdT A= gl

Question Number : 17 Question Id : 9983676841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following are qualifications for a technical assistant post in company Alpha.
The candidate must:

I Be an Engineering Post graduate with atleast 70% marks.
IT Not less than 23 years and not more than 30 years of age on 1.7.2019.
III.  Have passed the selection test with atleast 60% marks.

IV.  Willing to join immediate for training and ready to pay a deposit of Rs. 20000, to be refunded on
completion of training.

However, if a candidate fulfils the above mentined criteria except :

at (I) above, but he has appeared for the last semester examination and obtained an aggregate of 65% marks in previous
semester, his/her case may be referred to the V.P. of the company.

at (IT) his/her age is less than 23 years but he secured 80% marks in graduation, the case may be referred to the General
Manager of the company.

The detail of the candidate is given as regards his/her candidature. You have to read the information provided and
decide his/her status based on the conditions given above.

Ravi is an IT engineer passed his graduation with 80% marks. After getting the engineering degree he has done MBA

in marketing. He has cleared the selection test with 70% marks.

He is ready to deposit above said amount and want to join immediately. His date of birth is 2.10.1997.

Options:
1. = If the candidate is to be selected.

? « Ifthe candidate is not selected.

3. % Ifthe case is referred to the V. P.

4. » Ifthe case is referred to the General Manager.

Question Number : 17 Question Id : 9983676841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A w U FHECT AGHEUF H Gl AT =T g

Question Number : 18 Question Id : 9983676842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement:

Without active cooperation between officers and office staffs of the company. it cannot remain profitable to run business
from this office.

Decisions:

[.  Office environment should make friendly for staff.

II.  The office staff should be trained for cooperation.
Options:
1. = Only I follows.

?  BothIand II follows.

3 » Neither InorII follows.

A % Only II follows.

Question Number : 18 Question Id : 9983676842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 9983676843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the

statement to be true. and then decide which of the two suggested decisions logically follows for pursuing.

Statement:

People living in rural areas are far from education and health awareness.

Decisions:
I.  These people should motivate to come cities for education and health issues.

II. A mass awareness program must be initiated in these areas.
Options:
1. = OnlyIfollows.

7 « BothIand II follows.

3. x Either I or II follows.

4. % OnlyII follows.

Question Number : 19 Question Id : 9983676843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 9983676844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the

statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement:

All employees of the office have gone on strike in protest against the privatization of women helpline.

Decisions:
[.  The helpline should be shut down by government.

II.  All the employees should be immediately terminated from job.
Options:
1. % OnlyI follows.

? % BothI and II follows.

3.« Neither I nor II follow



1 = Only II follows.

Question Number : 20 Question Id : 9983676844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 9983676845 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
How many triangles are in the figure?

N

Options:
1. « 27

7 = 22



Question Number : 21 Question Id : 9983676845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R 3 R e 2

X

Options:

1. v 27
2w 22
3 = 25
4 = 29

Question Number : 22 Question Id : 9983676846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a certain code language the word FACTOR is written as TORCAF. How will the word PIMPLE be written in that

language?
Options:
1. + PLEMIP

7 % PLEMPI

3. % PLEPIM



A. % PLEIMP

Question Number : 22 Question Id : 9983676846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ws fARea T o1 # FACTOR & TORCAF & &9 # o@m ar g1 387 %e & 7 PIMPLE & &g
w7 ¥ forgr smeem?

Options:

1. v PLEMIP
2 % PLEMPI
3. % PLEPIM
4. % PLEIMP

Question Number : 23 Question Id : 9983676847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four letter clusters are given out of which the three letter clusters bear a certain common relationship. Choose the option

in which the letter clusters are differently related.
Options:
1 = EIMQ

7 % DHLP

3.« EINS

4. % TXBF

Question Number : 23 Question Id : 9983676847 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
A =T HeR wHg fow ew B, e @ O anw wagt F 99 svw 7 ve @fYea wee g9y g 3w
fasren & 9= S0 e wag f@ew &9 @ 3w & wetad &

Options:
1 = EIMQ
2 % DHLP
3. v EJINS
A % TXBF

Question Number : 24 Question Id : 9983676848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain common relationship. Choose the number which
is different from others.
Options:

1. = 253

7 % 299

3. % 391

4. «» 493

Question Number : 24 Question Id : 9983676848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR FEAW & 9 §, e ¥ @ semEt & f= v Qe aAw @9y §) 59 gE & 99 S e
¥ B 7

Options:



1.« 253

2w 299
3. % 391
4. » 493

Question Number : 25 Question Id : 9983676849 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four figures are given out of which the three figures bear a certain common relationship. Choose the figure which is
different from others.

Options:




Question Number : 25 Question Id : 9983676849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

METRr e SR dde e s i AR v i ss e s g &
e 81

Options:

N kA B

Question Number : 26 Question Id : 9983676850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

CARNIVORES, LION, HYENA



Options:

Question Number : 26 Question Id : 9983676850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 @ =9 3 39 3@, T 7w 3=t & O &1 g9 =T yafaites &ar 8
A, fAE, deseem

Options:

Qo



~

Question Number : 27 Question Id : 9983676851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following words in the given options can be formed from the letters of the word “ARCHITECTURE".

Options:
1. ®« LECTURE

7 « UREA
3. % CHILDREN

A % YENT

Question Number : 27 Question Id : 9983676851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow 77T et F ¥ 7 T 9= “ARCHITECTURE” 9fez & &R &7 TIT &38 SATdT 5T TohaT 87

Options:



1. « LECTURE

2. v UREA

3. % CHILDREN

4. % YENT

Question Number : 28 Question Id : 9983676852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If ‘A - B means A is mother of B, ‘A §$ B°, A is sister of B, ‘A (@ B’ means A is father of B and ‘A=B" means A is son

of B.

IfE - S =0 =P then how R is related to P?

Options:
1. » Nephew

? % Son

3  Daughter in law

/. % Niece

Question Number : 28 Question Id : 9983676852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I A-BR AT TFABHI AL ASB R ATTFABR g7 A@B FTadeg s
ABFRaTE iR A=B & 3T8 A B&H T &l

IER-5S=0=P% TR, P ¥ BT gsr & gafeg &2

Options:



1. = ST

A, x SAASATHA

Question Number : 29 Question Id : 9983676853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Shahini and Mohani are sisters. Dev and Anu are brothers. Dinesh is husband of Manju and son of Jyoti. Dev is son of

Jyoti and Jyoti is mother of Shahini. How Mohini’s father is related to Anu?
Options:
1. &« Son

? % Brother

3. « Father

/. % Brother in law

Question Number : 29 Question Id : 9983676853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oTfeetr 3R Agr sg §1 a AR ag anE 1 REw, wo F 9ty ik SO # der #1499 # S
¢ Al sy ot & Af ¥ AR & R, 3 ¥ T TR @ FEa 32

Options:

1. = @@



A« SEAS/ETr

Question Number : 30 Question Id : 9983676854 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If ‘P * Q° means P is father of Q, ‘P % Q°, P is daughter of Q. ‘P # Q’ means P is mother of Q and ‘P = Q’ means Q is
son of P.

IfM * N % O # R= S, then how R is related to M?

Options:
1. » Daughter

? % Son

3. % Father

4.  Either son or daughter

Question Number : 30 Question Id : 9983676854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TP+ QAT gP, QF TR P QHITEP, QHF TN, PHQ T HTE P, Q&
AE AP =Q FHTEQ P ITE

IEM+N%O#R =S5, aTR, M & &g yor ¥ gafog g2

Options:

1. % &



A ST am a8

Question Number : 31 Question Id : 9983676855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code PASTRY is written as Q1TUSZ, How will be RINGS written in that code?
Options:
1. = SOPHT

7 % S9OIT

3. % SJOHT

A. » S9OHT

Question Number : 31 Question Id : 9983676855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vs fAfRed %z # PASTRY & Q1TUSZ & &9 # forar =mar g1 33 e # RINGS & 5w &7 # forar
SATTT?
Options:

1. % S9PHT

2 % S9OIT



3. % SJOHT

4. «» SOOHT

Question Number : 32 Question Id : 9983676856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code PINK is written as 232, How will be GREEN written in that code?
Options:
1. = 200

3 % 245

4, v 430

Question Number : 32 Question Id : 9983676856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fAfea %2 # PINK &F 232 % & & fa@r smar 81 387 % 7 GREEN =1 &rw v # forgr smoem?

Options:

1. = 200

2 % 350

3. % 245



4. » 430

Question Number : 33 Question Id : 9983676857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of signs, when their positions are interchanged, will correctly solve the given mathematical
equation?

15+5-80+20=x5=76.

Options:
1. ®« +and =
? % +and+

3. « +andx

A = +and-

Question Number : 33 Question Id : 9983676857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frrafafea ® & #ia @ foew gow, 39 Rufadt &1 s sg fow = W, fov orv «1ftee
THIFIOT T T T T FoT HL?

15« 5-80 « 20 =5 =J8.

Options:



Question Number : 34 Question Id : 9983676858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the related word from the given options.

Architect : Building :: Sculptor : ?
Options:

1. ® Museum
7 % Stone
3 % Chisel

4« Statue

Question Number : 34 Question Id : 9983676858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feFr 71v Reeal 7 & vl asg T4

=i
aEdh . Hd o AldehL @ ?
] o,
Options:
1- 23

7. ow T



4, » Sfaa

Question Number : 35 Question Id : 9983676859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Five boys are sitting in a row. Boy A is on the right of B, E is on the left of B, but to the right of C. If A is on the left of

D. who is sitting in the middle?
Options:
1. = E

Question Number : 35 Question Id : 9983676859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST WS TH Glad A S g TSR A BF AT NG E BF AR N E G C F aw 3 IR A
D& &g 3w g, ar dg & sl d=r {2

Options:
1. = E
2 ow A



Question Number : 36 Question Id : 9983676860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out

the odd one.
Options:

1. % Insect

2 % Reptiles

3 % Rodent

4 Owl

Question Number : 36 Question Id : 9983676860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR weg T o § omd & A9 T Fwel § A g, Fafe =t weg st 31 Rwe e 9
Options:

1. = @€

2. » WA

Question Number : 37 Question Id : 9983676861 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
In problem. out of four figures marked 1. 2. 3 and 4, three are similar in a certain manner. However one figure is not like

the other three. Choose the figure which is different from the rest.

Answer Fig.

>/

Options:

1. = 1

2. & 2

Question Number : 37 Question Id : 9983676861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

wed H, 1, 2, 3 3R 4 gar AfFag =1 B & @ &7 5o AR d AT 31 genfE v By, ey
a1 & WA FE g1 98 B g S 9w & B g

3R AP

>/

I 2 3 4
Options:




Question Number : 38 Question Id : 9983676862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

3. 6. 18, 90, 630, ?

Options:
1. &= 5560

7 % 6060

3.« 6930

A = 7860

Question Number : 38 Question Id : 9983676862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¢ T I S g@er # v REa (2) & Tl & ¥ gfararfya s
3; 6 18,90 630 ?

Options:

1. % 5560

2 % 6060



3. v 6930

4. » 7860

Question Number : 39 Question Id : 9983676863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

21, 38,37 20, 109 2

Options:
1. = 120

7w 145
3 v 146

4 % 149

Question Number : 39 Question Id : 9983676863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T faweT g S g@er # goF REa (?) # wE &7 ¥ ylaewig S
21, 38, 57, 80, 109, 7

Options:

1. = 120

2 % 145



3« 148

4. » 149

Question Number : 40 Question Id : 9983676864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One term in the number series is wrong. Find out the wrong term.

14, 22, 30,42, 52, 70,7
Options:
1. = 22

7 % 30

Lh
I-2

3.

Question Number : 40 Question Id : 9983676864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 TF TEAT AT H U TEAT T gl e d WEAT A A

14, 22, 30, 42, 52, 70,?

Options:



3 v b2

General Awarenessi

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

3
998367289
0

0
No
No
0
20
No
Yes
0

0

General Awarenessl

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

998367295
1

Online
Mandatory
20

20

20

1
998367427
Yes

Question Number : 41 Question Id : 9983676865 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The mark that we have on our planet as a result of our daily
activities and usage or emissions of Carbon dioxide is known

ds.

Options:



1. = Carbon Sink

2. v Carbon Footprint
3. = Carbon Credit

4. = Carbon Trading

Question Number : 41 Question Id : 9983676865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sANT e aIfafafa=l, aur wee srEsfeass & 3uAer AT

3cHSIdl o YRUMAEIET AN SANT 3Yel I@ YT STell SiTel dTell
gl hgolldT gl

Options:

1. = Fea [&h
2. v FTeeT Fefle
3. = hIeld shisc
4, = FHieel ¢f39T

Question Number : 42 Question Id : 9983676866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Apiculture is the practice of

Options:

1. v Honeybee keeping

2. » Emu Keeping
3. # Silk worm Keeping
4. = Earthworm Keeping

Question Number : 42 Question Id : 9983676866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TUTehe< HT SITTTT &l

Options:

1.&??"%?3@'%




2. % THY Yleld

3. = JeTH <hic UTeld

4., = Siagdﬂ UTole]

Question Number : 43 Question Id : 9983676867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Agenda 21 of Earth Summit 1992, what does 21 refer to?

Options:

1. » 21 Ministries
2. = 21 Agendas

3. = 21 Countries
4. v 21st Century

Question Number : 43 Question Id : 9983676867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

godl GFAe 1992 T FRRET (VeisT) 21 H 21 &7 a7 37 §7

Options:

1. = 21 HIATOT
2. = 21 wAgRat
3. % 21 2er

4. v 2187 erarsdr

Question Number : 44 Question Id : 9983676868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the followings is NOT a part of Millennium
Development Goals?

Options:

1. = To improve maternal health
2. = To reduce child mortality
3. = To ensure environmental Sustainability



4. v To ensure the protection of Heritage Building

Question Number : 44 Question Id : 9983676868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATRaa # @ a7 Gggiies [Oohig oI&AT T Tesh HT ool &7

Options:

1. = Aldcd T H IR el

2. » 9T Hcg & H AT oTT
3. = TATEIONT gROigdr gﬁﬁud el
4. v UTAE e TANT T TI&T0T gﬁf&’\ﬂd ]

Question Number : 45 Question Id : 9983676869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India and Bangladesh agreed to jointly produce the film based
on life and works of

Options:

1. ¥ Mujibur Rahman
2. » Narendra Modi
3. = Sheikh Hasina

4. » Indira Gandhi

Question Number : 45 Question Id : 9983676869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR 3 TEender & Saer 3T ST 9T sraTia
Thed & TgeFc AT g T R .y
Options:

1.%@@?
2. % Tg AT
3. % AW FGIT
4, = T ey



Question Number : 46 Question Id : 9983676870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the followings has successfully launched a Dragon
Spacecraft on a cargo mission for NASA to international Space
Station?

Options:

1. v SpaceX
2. » ISRO
3. = CNES
4. x JAXA

Question Number : 46 Question Id : 9983676870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfa@a & @ forma aar g Feif fAee W s
HANET €Ml & TolU Uk ZaTel A& Ahold o W&l

foraT?
1. J TAEX (SpaceX)
2. = AU (ISRO)

3. « ALUAETH. (CNES)
4. » JATTFA.T.(JAXA)

Question Number : 47 Question Id : 9983676871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The name of Cyclonic Storm ‘FANI" was suggested by which
country?

Options:

1. = Pakistan
2. = India
3. v Bangladesh



4, = Oman

Question Number : 47 Question Id : 9983676871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

<RI cWhTel T 'WlaT #ATA fa 37 SaRT AT ar=m o477

Options:

1. = YTTehEdTa

2. & AT
3. v STIemeel
4. % AT

Question Number : 48 Question Id : 9983676872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Naval exercise ‘Varuna’, is the joint venture between :

Options:

1. = India- USA

2. v India- France

3. #= India- Japan

4. = India- South Korea

Question Number : 48 Question Id : 9983676872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 39T 'TEOIT % o TgeF A &
Options:

1. » ¥ - JUET

2. v 9d - WY

3. = AT - SIT4r«

4, = AR - ST&OT HIRET

Question Number : 49 Question Id : 9983676873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The famous book Kital-ul-Hind was written in:

Options:

1. = Persian
2. #» Urdu

3. = Turkish
4. v Arabic

Question Number : 49 Question Id : 9983676873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

uiE IFdd fhdTe-3a-fga 7 Tordr arg o)

Options:

1. = TIEr
2.

3. % gehf
4, v 3TET

Question Number : 50 Question Id : 9983676874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a mysteriously old and surviving pillar housed in the
Qutb Minar complex in New Delhi. The pillar is close to 1600
years old. What material is it made of?

Options:

1. = Steel
2. » {Copper
3. = Bronze
4. v Iron

Question Number : 50 Question Id : 9983676874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT feeell 7 FI8 AN TR # Toh EEIAAT §T F it
R Silad & TICTAT 1 I§ TIH oEr#Her 1600 ¥ ur<iiet |
T TorE ugrd @ §aT 87

Options:

1. = SEOTT
2. = drer
3. = dider
4. v SNET

Question Number : 51 Question Id : 9983676875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ritualistic significance of ‘Mahanavmi Dibba’ was
associated to which of the following kingdoms of India?

Options:

1. = Chola

2. v Vijayanagara
3. » Pandya

4. = Cheras

Question Number : 51 Question Id : 9983676875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'ABTIaAT T3eaT T VAT Hgced foied # & fohd 9RO
AT & Hedd or?

Options:

1. =

i

. v |

2
3. %
4

0

gl ald]X



Question Number : 52 Question Id : 9983676876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘Prayag Prashasti’ was composed in praise of:

Options:

1. = Chandragupta Maurya
2. * Pushyamitra Sunga

3. v Samudragupta

4. = Bindusara

Question Number : 52 Question Id : 9983676876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

' TRIed T TerT # TordT =

Options:

1.« g A

2. = TSOTHT [T
O O

3. v GHGICA
Fia R |

4. » fSequr

Question Number : 53 Question Id : 9983676877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Department of Atomic Energy comes under

Options:

1. v Prime Minister’s office

2. * Home Ministry
3. » Ministry of Science and Technology
4. = Department of Space

Question Number : 53 Question Id : 9983676877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TTATO] Soft fersmer F ATTT FRT FIAT &I

Options:

1. v TUTAHAT AT



2. * E HATC™
3. = [aarel v WieIREEhr #ATed
4. = 3TANET fasrer

Question Number : 54 Question Id : 9983676878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Constitution abolishes Untouchability?

Options:

1. v Article 17
2. » Article 23
3. = Article 29
4. % Article 18

Question Number : 54 Question Id : 9983676878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

HIUTeT T ks T 3efeda, IEYRIAAT HT SeFelel HIdl &7

Options:

1. v 3feese 17
2. » HwoT 23
3. = 3eedg 29
4. = 3eTeose 18

Question Number : 55 Question Id : 9983676879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the followings is the Governor of Odisha?

Options:

1. = Mridula Sinha
2. v Ganeshi Lal
3. # Lalji Tondon
4. = Jagdish Mukhi




Question Number : 55 Question Id : 9983676879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # O Fid, HEew 1 To9TaT &7

Options:

1. % Fgar Hegl
2. v 3Jrorel oel

3. % olTelall &ga

4.« SHEIERT HET

Question Number : 56 Question Id : 9983676880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who amongst the following is the third president of India?

Options:

1. = Sarvepalli Radhakrishnan

2. v Zakir Hussain
3. » Fakhruddin Ali Ahmed
4. = R, Venkataraman

Question Number : 56 Question Id : 9983676880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeet # O id, IRT & dRY ISeqia 87

Options:

1. » FOTeell TUTHSTT
2.«?3|T1-T\='|W§1":\Trr
3. % RESRIA 3ol MgHAS

4. » 3. dhcdTHe

Question Number : 57 Question Id : 9983676881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who became the acting prime minister of India after the
death of Lal Bahadur Shastri?

Options:



1. = Indira Gandhi
2. v Gulzarilal Nanda
3. = Charan Singh
4. = Morarjl Desai

Question Number : 57 Question Id : 9983676881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol SIEIEY ATEAT T Hcg o TRATT AR & FRIATEH TTTHAT
Shlel ol IAT Tall?

Options:
1p. % STeIT amely
2. v ST e
3. » WOT THE

4. = ARSI A%

Question Number : 58 Question Id : 9983676882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Ex-officio Chairman of Rajya Sabha is :

Options:

1. = Speaker

2. = Prime Minister
3. » Opposition Leader
4. v Vice president

Question Number : 58 Question Id : 9983676882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TSTTAT FT TS THATIT g &

Options:

1. % 3TEIET (FUTRT)
2. % TTTHAT




3. » oAdr gfcauar
4. v 39 Isggid

Question Number : 59 Question Id : 9983676883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The distinguished Tennis player Novak Djokovic belongs to
which country?

Options:

1. = France
2. v Serbia
3. » Bulgaria
4. = Slovakia

Question Number : 59 Question Id : 9983676883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yfaftea 2fag TEereEr aares SRaT fg 2o O a9rad &7

Options:

1. = WA
2. v e

3. % FedlAl
wt

Y -
4, = TolldI<hl

Question Number : 60 Question Id : 9983676884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The IPL team Delhi Daredevils renamed as:

Options:

1. = Delhi NCR

2. » Delhi Thunderstoms
3. v Delhi Capitals

4. = Delhi Belly



Question Number : 60 Question Id : 9983676884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YU dIF el SIEAed T 14T ATH

Options:

1. = ool TAdTIR
2. = ool UsiTered
3. v feeell Siteeq
4. = f&eell soll

General Awareness?

Group Number : 4
Group Id: 998367290
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness2

Section Id : 998367296

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367428
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983676885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The famous Barabati Stadium is located in:

Options:

1. = Gujarat
2. » Harayana
3. = Assam

4. v Odisha

Question Number : 61 Question Id : 9983676885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

g SRear efEgs 7 &g &

Options:

1. = I&0d

2. = gRrom
3. = MOH
4. v 3NfgeT

Question Number : 62 Question Id : 9983676886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Ancient India, the first ever theory of smallest indivisible
particle known as ‘Parmanu’ appeared in which of the
following texts?

Options:

1. v Vaiseshika Sutra
2. » Sushrut Samhita
3. = Brihad Samhita
4. » Rasratnakar

Question Number : 62 Question Id : 9983676886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

m?ﬁ?rﬂﬂ?rﬁ'qm'ﬂgaxdmﬁmd T8 B¢ MTTHTST HoT
T FaygA e e # § Fg ged+ & gl g7



Options:

1.%3@%@?

2.
3. # Fg<I Gigdl
4.

# A callend

Question Number : 63 Question Id : 9983676887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Pairs is correctly matched?

Options:

1. » Tawang Monastery- Himachal Pradesh
2. v Rumtek Monastery- Sikkim

3. » Tabo Monastery- Jammu and Kashmir
4. = Thiksey Monastery- Nagaland

Question Number : 63 Question Id : 9983676887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # O T A8 &1 Herd T@ar g7

Options:

1. % JareT A - TeHATIS Uder

2. v THCF HS - AfeFH
3. = Wl AS - SIFH AT FLART
4. » Thd AS - oATMolS

Question Number : 64 Question Id : 9983676888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Toda Tribe’ is endemic to which of the following places of
India?

Options:

1. = Odisha
2. v Nilgiris




3. = Andamans
4. = Jharkhand

Question Number : 64 Question Id : 9983676888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TIET SeTallld’ AR & ot & & TohT T 9 918 ST 67

Options:

1. = 3MfSem
2. v @ATIENT
3. = 3{SHATT
4, = TS

Question Number : 65 Question Id : 9983676889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the following options which one is the capital of
Argentina?
Options:

1. * Luanda

2. v Buenos Aires
3. % Oslo
4. « Hanoi

Question Number : 65 Question Id : 9983676889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

faraT Jredl & @, 3Toleclall I TSTUTaT Hiad AT §7

Options:

1. = O[3TET
2.%@3@[3{@1&
3. = 3Ear
4, « gallg



Question Number : 66 Question Id : 9983676890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Manikaran Geothermal Plant is located in:

Options:

1. v Himachal Pradesh
2. » Uttarakhand

3. » Punjab

4. = West Bengal

Question Number : 66 Question Id : 9983676890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aot spardrr G F feur ¥

Options:
1. v TgATRer uder

2. * 3cadlEs

3. = Tolls
4. = TIETH T

Question Number : 67 Question Id : 9983676891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The terms Eye, Landfall and Centre are related to which of
the geographical phenomena?

Options:

1. = Tsunami

2. = Earthquake

3. v Cyclone

4. = Volcanic Eruption

Question Number : 67 Question Id : 9983676891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S, osHa AR deT oreg forw efianferer aiEeaT O gefad g7

Options:
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Question Number : 68 Question Id : 9983676892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Robusta’ Variety is associated to

Options:

1. = Tea

2. » Wheat
3. = Malt
4. v Coffee

Question Number : 68 Question Id : 9983676892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JeEer $T TFeFR & Taad Bl

Options:

1. = IO

2.« M

3. & Hled
4. v FIHT

Question Number : 69 Question Id : 9983676893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Appiko Movement IS assoclated to

Options:

1. = Expansion of Postal Network
2. » Tax free campaign of liquor
3. v Forest Conservation



4. = Establishment of Model schools in Jammu and Kashmir

Question Number : 69 Question Id : 9983676893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JHTCUehT HTTeTel g geiad gl

Options:

1. = ETh aicdeh hl VAN
2. » HTHFA WS SIE DG
3. v de HI&T

4. % SFA 3N FAR H AlSel Tholl I TATTAT

Question Number : 70 Question Id : 9983676894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a situation where the expenditure of the government
exceeds its revenue.

Options:

1. v Deficit Financing

2. » Zero Financing

3. » Devalued Financing
4. = Equities

Question Number : 70 Question Id : 9983676894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a3 foufa & Oud @R #T =59, 39 Tea |
31feeR BT &1

Options:

1. v =TT TAcaamoT

2. = g Tacaqryor

3. % 3fgHfedd fdeaaryor
4, » giFadr




Question Number : 71 Question Id : 9983676895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Blood is a

Options:

1. v Heterogenous Mixture
2. » Homogenous Mixture
3. = Elements

4. » Homogenous Matter

Question Number : 71 Question Id : 9983676895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fd _ BIT &I

Options:

1. v TAYATT TFsmor
2. = HHATI Tasmor
3. = dcd

4. » AN gy

Question Number : 72 Question Id : 9983676896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the World’s largest airborne observatory?

Options:

1. v SOTIA

2. % LILY

3. * KATRINA
4. « JASMINE

Question Number : 72 Question Id : 9983676896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeg T ged F57 TALSIT TYURMTT hidd AT §7

Options:




v TR (SOFIA)

« foreil (LILY)
el (KATRINA)
x SITeHsT (JASMINE)

ol
#®

Question Number : 73 Question Id : 9983676897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which country the first Malaria Vaccine has been launched?

Options:

1. = Brazil

2. v Malawi
3. » Malaysia
4. = Sri Lanka

Question Number : 73 Question Id : 9983676897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHORAT T &1RT Ugell o fopd o7 & ot frar arar?

Options:

1. = STilel
2. v Ham@ar
3. = el
4. = SreleRT

Question Number : 74 Question Id : 9983676898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which layer of the atmosphere contains the Ozone Gas?

Options:

1. v Stratosphere
2. = Jonosphere
3. * Thermosphere



4. = Troposphere

Question Number : 74 Question Id : 9983676898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

argASe HT TRE W A 3l I g g7

Options:

1. v HAJIT #A=dl

2. = 3ATHSA
3. % dI9HEd
4. % ETHAS

Question Number : 75 Question Id : 9983676899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From which launch pad will Chandrayaan-2 be launched by
ISRO?

Options:

1. = Chandipur

2. v Sriharikota

3. » Thiruvantapuram
4. = Port Blair

Question Number : 75 Question Id : 9983676899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T (ISRO) Z@RT TgAT-2 I fohd walgoT g & uaifia
fopaT STTUaTT?

Options:

1. % TR

2. v HEenler

3. % 'l?lbqa{dgu-l

4. » Q¢ AT




Question Number : 76 Question Id : 9983676900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the India’s first indigenously developed vaccine for
Rotavirus Infections?

Options:

1. v Rotovac

2. * Rotatores
3. = Rotavator
4. = Rotatoria

Question Number : 76 Question Id : 9983676900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QAT GhAUT & T faqad & & Sid 9T FT vgq8 Tgcel
e &t 87

Options:

1. v VeIdh
2. * UIRCRH
3. = A@ex
4. = QEIRAT

Question Number : 77 Question Id : 9983676901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is credited to co-discover the
elements with atomic number 95-106 in of the periodic table?

Options:

1. = Wilhelm Rontgen
2. v Albert Ghiorso

3. = Arnest O Lawrence
4. = Ernest Rutherford

Question Number : 77 Question Id : 9983676901 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

3T RO & SATT] T&AT 95-106 dTel dcal T TE-Fhel hl
AT e 7 & 8 fgr srar &2

Options:

1. = TdolgH Ucold

2. v 3eac mLar
3. = 3fel€c 3 aRH
4. % 3ol€c IEIHIS

Question Number : 78 Question Id : 9983676902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Indian Army, which of the following pairs is
NOT correct?

Options:

1. v Western Command- Jaipur

2. « Eastern Command- Kolkata
3. » Central Command- Lucknow
4. = Southern Command- Pune

Question Number : 78 Question Id : 9983676902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3T o T A, oFad & & i 1 SIST il Jal 87

Options:

1. v UTSTHT FHTT - ST

Al AT - Hlelehldl

2.
3. & HET FHAA - oT&dS
4.

« SfEOl FATe - qor

Question Number : 79 Question Id : 9983676903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The full form of INTACH is:

Options:

1. v Indian National Trust for Art and Cultural Heritage

2. » Indian National Trust for Artist and Cinematic Heritage
3. » Indian National Archive and Citation Heritage

4. = Indian National Audience and Critics Heritage

Question Number : 79 Question Id : 9983676903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

INTACH (3TSUeIEIvETT=T) T T ATA gl

Options:

1. ¢ Indian National Trust for At and Cultural Heritage
(ET3TeT sfeleTel TEC B 3¢ TS Theala sResT)

2. = Indian National Trust for Artist and Cinematic Heritage

(3TSTT el T8c B 3TeEe Us TelAfesh gl

3. = Indian National Archive and Citation Heritage (3T83e
AeTeTol 3hI5d US dTaceld alidel)

4. = Indian National Audience and Critics Heritage (383«
Aelelel 33T vg Torfesra gReaT)

Question Number : 80 Question Id : 9983676904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The headquarters of Food and Agriculture Organization of the
United Nations (FAQ) is situated at:

Options:

1. * Madrid
2. v Rome

3. = Bonn
4. = Bratislava



Question Number : 80 Question Id : 9983676904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIFT TSE & FWIg U FI¥ TaaeT {Food and Agriculture
Organization (FAQ)} &T HEATer 7 g g

Options:

1.« #fEs

2. v A
e
3. = Mo
[
4, = STIAEId]
Arithmetic Ability1
Group Number : 5
Group Id: 998367291
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 998367297
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 998367429
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983676905 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Ifa+b=28anda’ +b* = 632, then find the value of ab.

Options:
1. « 76

7w 66

4 = 78

Question Number : 81 Question Id : 9983676905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afra+b=283Ta?+b?=632 & ar ab F AT AT FHII

Options:

1. v 76
7 = 66
3 % b6
4. = 78

Question Number : 82 Question Id : 9983676906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The population of city A is 84000, which decreases at the rate of 1400 per vear. Population of city B is 38000, which
increases at the rate of 900 per year. In how many years will the population of cities A and B be equal?

Options:



Question Number : 82 Question Id : 9983676906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT A FT HTEEr 84000 g, ST 9f I 1400 Fr 3T ¥ g4r g1 ET B Fr HEEr 38000 g, I wfw I
900 Fr 2T T F&ar &1 Thder auf F 28T A &1 FEEr B & s{ET & ATe?

Options:

1. = 16
2 = 18
3 = 15
4. v 20

Question Number : 83 Question Id : 9983676907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a regular week, there are 6 working days, and each day has 9 working hours. A man gets < 3.50 per hour for regular
work and ¥ 7.50 per hour for overtime. If he earns T 786 in 4 weeks, then for how many hours does he work?

Options:
1. = 215



Question Number : 83 Question Id : 9983676907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U% AT B8 A 6 Frfesw AR g% GF # 9 9¢ & FIH @ 1 e W FH HatAd w
& forT 73.50 9fy ger 3y sfEweeA & v 77.50 9 uer &ea €1 o 9% 4 9ot # T 786 &ATEr
¥ O 9 frae 9T F1F a2

Options:
1. % 215
2. v 220
3. = 216
4. = 230

Question Number : 84 Question Id : 9983676908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two-third of David’s savings in National Savings Certificate is equal to three-fourth of his savings in Public Provident
Fund. If he has ¥ 3.40,000 as total savings. then how much has he saved in Public Provident Fund?

Options:

1 R < 1,80.000

9 % ¥1,70,000



3 » T1.60.000

4 = T2.60,000

Question Number : 84 Question Id : 9983676908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T §9d FAOYT J 379 & ar-fags sua 3w o giecy @Y & destae =9 ¥ suew g1 3
3EH FoT T9d T 3,40,000 §, A 3@« A afesy Bfr 7 e wmw fr E2
Options:

1 % 1,880,000

2« ¥1,70,000

3 » ¥1,60,000

4 = %2,60,000

Question Number : 85 Question Id : 9983676909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The expression (33.?5 X33.75—-3375,+4.13X 4—.13) will be a perfect square for which of the following values of ¥?

Options:
1. « 826

7 % 4.13

3 % 626



A % 813

Question Number : 85 Question Id : 9983676909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

y & fra a7 & forw @aeRtor (33.75 X 33.75 - 33.75, + 4.13 X 4.13) Teh qUT 9T gE?

Options:
1. v 8.26
2. % 4.13
3. % 6.26
4. = 8.13

Question Number : 86 Question Id : 9983676910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If 17.5x = 5.25y, then the value of

S5y — 2X

is:

Iy +2x
Options:
1. = 4.12

7 % 3.12

3. % 2.22

A v 1.22

Question Number : 86 Question Id : 9983676910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



afy 17.5x=5.25y & ar 3:+1 T AT FIT 2
Options:

1. = 412

2 % 312

3 % 222

4. v 122

Question Number : 87 Question Id : 9983676911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the difference between two positive numbers is 5 and their product is 93.75, then find the greater number.

Options:
1. « 12.

Lh

? % 11.

Lh

Lh

3 & 13

A % 145

Question Number : 87 Question Id : 9983676911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg 3 uaTere Tt F FAR 5 § MR 3% UEhS HT HR 93.75 §, A I TEA AT H

Options:



1. v 125

2 % 115
3. % 135
4. % 145

Question Number : 88 Question Id : 9983676912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

| readg of a book on one day and % of the remainder on another day. If 21 pages remained unread. how many pages did
the book contain?
Options:

1. % 382

7 v 392

3. % 329

A = 362

Question Number : 88 Question Id : 9983676912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

#r v forar o foww v R ver A A @ 2 fewar SR Al o e oy 21 oo anh 9em
sy 2, ar e 7 o et 9o A7
Options:

1. = 382



2. v 392

3. % 329

4. % 362

Question Number : 89 Question Id : 9983676913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the smallest fraction that should be added to the sum of 4; + ?g + 82 to make the result a whole number.

Options:

1. =

o | o

ui | ba

Question Number : 89 Question Id : 9983676913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁﬂﬂﬁa@mmaﬁﬁﬁmﬁwwmm#ﬁwﬁ+ ?§+8§ ¥ o F =

ST FehaT 27
Options:

3
1. % e



ui | b

Question Number : 90 Question Id : 9983676914 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Find the valueof — + —+—+
15 35 63

- ]
= F

99 143

Options:

La
1. = 20
2. % 29

3. & 239

|h-.'|

%]
w0

4 =

Question Number : 90 Question Id : 9983676914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

- - -
i F

¥ 2
e e e e &
15 33 a3 39

T AT AT HL

Options:



[
L)

Mo
b
I-a
I¥s]

|h.‘|

:h.
8
(%]
[u]

Question Number : 91 Question Id : 9983676915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the sum of all such numbers between 500 and 600 that are divisible by 9, 12 and 18, leaving no remainder.

Options:
1. v 1620

7 % 1260

3w 1640

A % 1680

Question Number : 91 Question Id : 9983676915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

500 3T 600 & & Fr vy Tft TEArHT FT AT AT F, S 9, 12 HT 18 T ar=w T i FT Ay AF
oisdr 2l
Options:

1. v 1620

2 % 1260



3. % 1640

4. » 1680

Question Number : 92 Question Id : 9983676916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are two numbers that are greater than 32, and have their HCF and LCM as 32 and 5984, respectively. Find the
sum of the two numbers.
Options:

1. = 678

? % 778

3.~ 896

4 = 786

Question Number : 92 Question Id : 9983676916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

THT & FEAC § S 32 § 931 § AR 399 Agcadn FANEC® AN SPcad @ANECe HA 32 3 5984
g1 3 7 HEATAT FT T AT FL

Options:
1. = 678
2 % 778

3. v~ 896



4. % 786

Question Number : 93 Question Id : 9983676917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Find the greatest five-digit number that on being divided by &, 12 and 15 leaves 5. 9 and 12 as remainders, respectively.

Options:
1.« 99957

7 % 99975

3. % 99967

A % 99947

Question Number : 93 Question Id : 9983676917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TEW FE 9IE-3T hT FEIT AT FE, o 8, 12 3T 15 ¥ Fsnfag Fta W FH9 5, 9 3k 12

ITHeT 3T
Options:

1. v 99957
72w 99975
3. w 99967
4 = 99947

Question Number : 94 Question Id : 9983676918 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
A and B invested T 40,000 and ¥ 60.000, respectively, in a business for 1 year and received a profit of T 30.000. A.

being an active partner, received a salary of 20% and 10%6 of remaining was paid towards rent. If the remaining profit
was divided between A and B. how much was B’s dividend?

Options:

1. « < 12,960

2 % T12,900

3 % 10950

4. = T 11.800

Question Number : 94 Question Id : 9983676918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR B & 1 T & T v FUEIRX #F FAA: T T T 40,000 3T T 60,000 Faer e 3w 372 2
S0,00megmiaﬁ?&ﬂﬁﬂmzﬁﬁ%mﬁAﬁEO% aaeT e 3T T F7 10% fFue & faa
T A 9T =7 o9 A 3T B &F &= ¢ B3 T, af B T Srsrer fRaer are?

Options:

1 » 12,960

2« 12,900
3 » Z10,950
A« 11,800

Question Number : 95 Question Id : 9983676919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Three numbers are in the ratio of 2 : 3 : 5. If the sum of their squares is 5472, then find the sum of all the three numbers.



Options:
1. ¢ 120

7 % 140

3. % 125

A % 130

Question Number : 95 Question Id : 9983676919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I BT 2 3 : 5 & IO A gl AR 3 I F Aew 5472 7, A AT FEAmst Fv der A H

Options:

1. v 120
D % 140
3. % 125
4. % 130

Question Number : 96 Question Id : 9983676920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
There are cows, buffaloes and horses on a farm. The owner sells 70% of these animals and still has 90 animals left with

him/her. Find the number of horses on the farm if the animals are in the ratioof 1 : 2 : 3.
Options:

1. % 250



7w 150

3. % 100

A % 120

Question Number : 96 Question Id : 9983676920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B9 &y, 7 3k o2 ¥ A9 F I =9 I F § 70% 3= 297 3R O o 33 o
90 SaY F= AT g1 Tl AR &1 a1 : 2 : 3 §, O W H W30 Fr TSN AT H

Options:

1. % 250
2. v 150
3. = 100
4. = 120

Question Number : 97 Question Id : 9983676921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A% 3, B & 3 § 9T AT g1 A F 3P, C F 3w ¥ o IR I g1 C & 37, B F 3w ¥ e
faerd 3o 32

Options:

1. v 25%



2 % 20%

3. % 24%

4. % 30%

Question Number : 97 Question Id : 9983676921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A’s marks are five times that of B’s marks. A’s marks are also four times that of C’s marks. By what percentage are the

marks of C greater than those of B?

Options:
1. v 25%

? % 20%

3 % 24%

A4 = 30%

Question Number : 98 Question Id : 9983676922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Manoj spent 20% of his salary on clothes and 25% of the remaining on food. After spending on clothes and food, he

spent 8% of the remaining on miscellaneous expenditure. If he is left with ¥ 11,040, then what is his salary?
Options:
1. = < 25,000

2 » 315,000



3 % 24,000

4. » 20,000

Question Number : 98 Question Id : 9983676922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AAST & H9A da7 F 20% FIs 9T AR & F7 25% ST W T FHar, su e #v 8% Fea
=T 9¥ = fFar) ofE 33 9rg T 11,040 I §, a7 3G 399 U A417

Options:

1« 25,000
2 % 15,000
3. % 24,000

4. » 20,000

Question Number : 99 Question Id : 9983676923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of 50 observations is 60. If 10 is added to each of the observations and each of them is multiplied by 2.
what will be the new average?

Options:
1. v 140

7 % 120

3. % 130



A % 150

Question Number : 99 Question Id : 9983676923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

50 3Editeal @1 3itwa 60 T IS Fede aewa A 10 s fear e Ak geds & 2 & Tom e
ST, o 75 3itEg Far 2

Options:
1. v 140
2 % 120
3. % 130
4. = 150

Question Number : 100 Question 1d : 9983676924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A is 50% of B, C is twice of B and D is 3 times of A. If the average of all the four is 60, then the difference between the

greatest and the smallest number in the group is:
Options:
1. = 70

? % 75



Question Number : 100 Question Id : 9983676924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B #T 50% &, C, B &I e ¢ 3R D, A & 3 &I 7= &1 afg | amt &1 3ftwe 60 7, aF v
#T FEH T3 AR FEE O §E & A9 AW AT H

Options:

1. = 70

2 % 75

3 = 74

4., v 72

Arithmetic Ability?2
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Group Id : 998367292

Group Maximum Duration : 0
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Group Marks: 20
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Sub-Section Number: 1
Sub-Section 1d: 998367430
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983676925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By selling an article for ¥ 2,400, a person incurred a loss of 20%. How much should he sell it for to make a profit of
20%?

Options:

1. « < 3,600

7 % 3,500

3 % 3,000

4. = T4.600

Question Number : 101 Question Id : 9983676925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TE] P 2,400 H IS F U Alad H 20% F FHAA 2 ¢l 20% FATH FA & fow 38
TEg @ fFas 7 = g

Options:
1. » 3,600
2« ¥3,500

3 % 3,000



4 = T4,600

Question Number : 102 Question Id : 9983676926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man sold two articles for ¥ 10.000 each. neither losing nor gaining in the deal. He sold one at a 25% profit and the

other at a loss. Find the loss percentage.

Options:

2o
1 v 163 Yo
2w 12%

3 % 11.5%

A = 10%

Question Number : 102 Question Id : 9983676926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T eoied & FEgIT H ¥ & TF H 210,000 F 49w 7, 59 W H 30 A O F$ JHE g IR A
& TS HAE AT IHA TF 25% HAH W HR @Y FRA F WY a7 & g gfoRrd AT F:

Options:
16=%
1. v s

2 % 12%

3. % 11.5%



4. % 10%

Question Number : 103 Question Id : 9983676927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Manohar sold a cooker to Shivani at a profit of 8%. Then, Shivani sold it to Virat at a profit of 7%. If Virat has paid <
1.155.60, find the cost price of the cooker.

Options:
1. % 1,200

2 » T 1.000

3 % 1500

4. = < 1.300

Question Number : 103 Question Id : 9983676927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR o 8% HATH F W R & v Fa 5911 TR R & 380 e #1 7% g% F A9y e
feam =fe faRre & T 1,155.60 &1 fFTaTel foharm, df $o 1 AT Hed AT FI

Options:

1 % 1,200
2« 1,000
3« 1500

4 % %1300



Question Number : 104 Question 1d : 9983676928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arman purchased a motor cycle whose marked price is ¥ 1,50.000 at a discount of 10%. If sales tax of 8% is added to
the bill, find the selling price of the motor cycle.

Options:

1. « < 1.45.800

7w T 140,500

3 % $1.40.800

4. = T 135500

Question Number : 104 Question Id : 9983676928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR 7 10% BT F Wy Ay wsfrer wdr e #fea 7z 71,50,000 31 af foar 7 8% faww
#T Sz fgar ST, & A wefre & Twy g5g Fa #

Options:

1. « 1,45,800

2« %1,40,500

3 % %1,40,800

4« %1,535500

Question Number : 105 Question Id : 9983676929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sudeep visits an AC showroom and selects an AC for T 44.000. The rate of sales tax is 10%. However, Sudeep insists
that the shopkeeper reduce the price of the AC to such an extent that he has to pay < 44.000 inclusive of sales tax. Find
the reduction needed in the price of the AC.

Options:

1. = < 5,000

2 % T4,500

3 » T4.000

4. = T5.500

Question Number : 105 Question Id : 9983676929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AC & ofes # e § R T 44,000 # v AC IAaT g1 e &2 #1 &7 10% g1 &Teiier, gad
ZFAER ¥ HEE X W@ & & &t 3¢ 3o ge & & 9 39 Fww =% afea T 44,000 & &= w$1 AC #
HAT A Traelr HAT HLT g

Options:

1 % 5,000
2« 4500
3 4,000
A % %5500

Question Number : 106 Question Id : 9983676930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Siva borrows T 12,000 for 5 vears at 8% p.a. simple interest. He immediately lends this amount to another person for 5
years at 10% p.a. Find his gain percentage in this transaction.



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 25%

Question Number : 106 Question Id : 9983676930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forar 8% =M WTUROT 9Tt &X W 5 W@ & T T 12,000 3UR o4 §1 38 g4 & ufr R sk
fda & 5 F@ret & BT 10% arfSes Fraror ears &7 9T & &Y 5§ o & oy 9faea 7 i

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:
1. 25%
2. 20%
3. 22%
4. 15%

Question Number : 107 Question 1d : 9983676931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person invested ¥ 5.000 each in two schemes with rates of interest in the ratio of 2 : 3. If the total interest received

after 10 years is T 5,000, the rate of interest in the first scheme is:

Options:



Question Number : 107 Question Id : 9983676931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue hfdd 7 & WA A ¥ g TH A T 5,000 e v S susr @7 @ e 20 3 71 3 10
W#msﬁ?&mﬂmm?,ﬁqﬁ&ﬂdmﬁ'sqma?ci-m g7

Options:
1. = 3%
7 x 6%
3 =% 5%
4, v 4%

Question Number : 108 Question Id : 9983676932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the simple interest and compound interest on a certain sum of money at 10% p.a. for 2 years is
600. What is the principal?

Options:
1. « 60,000



9 % ¥ 50,000

3 % 65000

4. % 70,000

Question Number : 108 Question Id : 9983676932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e AR ofr W 10% a1 a3 & 2 @rell & BT mrumer sas 3R mhRgfe sarsr & 3#aw T600 g

s T g7

Options:

1 » % 60,000

2« 50,000
3« Z65,000
4. = ¥70,000

Question Number : 109 Question Id : 9983676933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a factory, the production of scooters went up to 108900 from 90000 in 2 years. The rate of growth per annum is:

Options:
1. v 10%



Question Number : 109 Question Id : 9983676933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Al H 2 HIAl A FHed H 3c9e 90000 & FgaT 108900 g w1 aftes e &X A i

Options:

1. v 10%
2 % 12%
3 0w 9%
A4 % 15%

Question Number : 110 Question Id : 9983676934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The present population of Ratlam city is 2,77,830. What was its population 3 vears ago if the present population has

increased since then by 5% p.a.?
Options:
1. = 2.30,000

9 2.40,000

3 % 2.50.000



Question Number : 110 Question Id : 9983676934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITeTH AT P TIHTT AEET 2,77,830 ¥ 3 T Tge FH UFT Fr HEEy Fhaer of, I sEdH oA
HEEr 99 ¥ 3T I 5% I8 &7 ¥ 5¢r ¢

Options:

1 2,30,000

2 » 2,440,000

3« 2,50,000

A4 % 245,000

Question Number : 111 Question Id : 9983676935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of the base of a right triangle is 2 cm more than that of its altitude. If its area is 24 cm?, find the length of its

hypotenuse.

Options:
1. v 10cm

? % 8cm

3 % 12cm

4 % 13cm



Question Number : 111 Question Id : 9983676935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HHEHIUT g 1 HOR-YE F Fas 3EF fivew F 2 om ST g1 I SEe aee 24 cm?
ar g Fot-YEr #r W F

Options:

1. ¢ 10 cm

7 % 8cm
3 = 12 cm
4. = 13 cm

Question Number : 112 Question Id : 9983676936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of a rectangle is 1% times the side of a square, and its breadth is 4 cm more than 50% of the side of the

square. If the area of the square is 576 cm? |, find the perimeter of the rectangle.
Options:
1. «+ 104cm

? w 140 cm

3 % 120cm

4 % 124 cm

Question Number : 112 Question Id : 9983676936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



wmr—r%ra‘aré,wa?‘rﬁragmﬁlggm%aﬁwsmﬁrsréaﬁ#aimﬁm%ﬁMcmm
¥ ofE T &7 & e 576 cm? ¥, 3t 3OT & 9@ AT S

Options:
1. ¢ 104 cm
2 % 140 cm
3 = 120 cm
4 = 124 cm

Question Number : 113 Question Id : 9983676937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nine circles of maximum possible size are drawn on a square paper with an area of 1764 cm?, Find the circumference
of one circle.
Options:

1. & 48cm

? « 44cm

3 % 8cm

4 = 64cm

Question Number : 113 Question Id : 9983676937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1764 cm’ &A% & Uk TINHR FETH W HAUHaH FHAT HFR F #Al Jod IAT AT 1 TF Jod
aifer F e #

Options:




1. = 48 cm

7 v 44 cm
3 = 84 cm
4 = 64 cm

Question Number : 114 Question Id : 9983676938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Soham and Karthik together can do a job in 20 hours. Soham alone can complete 40% of the job in 12 hours. If they

receive a total payment of ¥ 1,110, then Soham’s salary is:
Options:

1. v T 740

7 % T760

3. % T840

A % T 860

Question Number : 114 Question 1d : 9983676938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TigH HR Ffw St et v FH FT 20 U H U F TR ¢ FEH IR & 3H FH #: 40%,
12 &1 & U X Tl gl I @ FF FoA T 1,110 F sFra= fhar 727 8, aF HigH & dd A B
Options:

1. v T740



2 % T760

3. % T840

4. % 860

Question Number : 115 Question 1d : 9983676939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B and C accepted a job for T 3.400. A and B together finished % of the job. B and C together finished % of the job.
How much salary does B get?

Options:

1. = T 500

7 % T 800

3.« T600

A % 900

Question Number : 115 Question Id : 9983676939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B 3T C & 23,400 & Rw & & 9os foram A ¥R B A & B I & 2 99T W
feam B 3k C & e w7 &1 - T 9@ a% Remm B & formen e e @7

Options:

1. = Z500



2 % T800

3. v T600

4. = T900

Question Number : 116 Question Id : 9983676940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man drives his car at 3 of his original speed and reaches his destination 1 hour later than the usuval time. Find the
usual time he takes to reach his destination.
Options:

1. + 3 hours

? % 2 hours

3. % 35 hours

/. % 4 hours

Question Number : 116 Question Id : 9983676940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v =fed ME F awafas A ¥ 2 oAy W gerer § A el Afee woawes § 1 v Ed @
qgum g1 A ﬁﬁmmﬂﬁﬁaﬁﬁmmmmé‘?
Options:

1. v 38




Question Number : 117 Question Id : 9983676941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a flight of 800 km, an aircraft was slowed down due to bad weather. Its average speed for the journey was reduced by

100 km/h, due to which the time of flight got increased by 24 minutes. The duration of the flight was:
Options:

1. = 2 hours

7« 1 hour 36 minutes

3. % 1 hour 45 minutes

/. % 1 hour 20 minutes

Question Number : 117 Question 1d : 9983676941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

800 km & ERT H, BT HIGH FT 99 U T OB & {FaAN fiHAT FT 78| 6T T 3T AEa
aifT 100 km/h FR & 778, [5HFr 998 & ¢ 24 e 3t o= 8 am gwt Fr 35 79 1

Options:

1. = 2@

2 «» 1436 fAEe

3 % 19 45 fA=e



A. = 19 20 A=

Question Number : 118 Question Id : 9983676942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A man walking at the rate of 5 m/s takes 70 minutes to reach his destination. How much time will he take to travel the

same distance if he runs at the rate of 30 kimm/h?
Options:

1. + 42 minutes

? % 40 minutes

3. % 30 minutes

4. % 1hour

Question Number : 118 Question Id : 9983676942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

waﬁﬁﬁamfsaﬁra?#aaﬁgamﬁﬁamqg’aﬁﬁmmm%z:ﬁ-:a-gsc km/h &
e ¥ aisar 8, O 3W FEr g 9% A A Fhaer §HT e

Options:

1. v 42 f&=e
2 % 40 @ae
3. % 30 f@=c



Question Number : 119 Question Id : 9983676943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The following line graph gives the percentage of the number of candidates who passed an examination out of the total

number of candidates who appeared for the examination over a period of 7 years from 1994 to 2000.

Percentage of candidates who passed out of those who appeared in the examination over the years
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The total number of candidates who passed in 1997 and 1998 combined was 28600, and the number of candidates who

appeared in 1998 was 24500. How many candidates appeared for the examination in 19977

Options:
1. « 18.000

9 % 16,000

3 % 18,500

4. = 16.500

Question Number : 119 Question Id : 9983676943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e Y@ 715 1994 & 2000 & 7 Al $F A & @ TleT F 95 Fo qlenidar 7 ¥ IfeT A
SedioT gu SienfEat Fr T # foe a@ier 2
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Options:

1~ 18,000
2 % 16,000
3« 18,500
A % 16,500

Question Number : 120 Question Id : 9983676944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following line graph gives the percentage of the number of candidates who passed an examination out of the total

number of candidates who appeared for the examination over a period of 7 years from 1994 to 2000.

Percentage of candidates who passed out of those who appeared in the examination over the years
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If the number of candidates who appeared in 1996 was 32800 and in 1995 was 26400, then how many more candidates
passed in 1996 than in 19957

Options:
1. # 6840

7« 6480

3. % 6580

A % 6550

Question Number : 120 Question Id : 9983676944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e T@r 7 1994 & 2000 &% 7 W@ #F A & AT T H 45 For qdentya # ¥ T H
ST ge wfenfiEt & e # g g #)
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Options:
1. = 6840
2. « 6480
3 % 6580
4. % 6550
General English1
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Group Minimum Duration : 0
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Question Number : 121 Question Id : 9983676945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

her son nor her grandson believed her when she told
them her story.

Options:

1. = S0

2. » Both

3. = Either
4. v Neither

Question Number : 121 Question Id : 9983676945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

her son nor her grandson believed her when she

told them her story.

Options:

1. = S0

2. = Both
3. = Elither
4. v Neither

Question Number : 122 Question Id : 9983676946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

We enjoyed the gondola ride the long waiting time for
tickets.

Options:

1. = even though
2. = although

3. v despite

4. = however

Question Number : 122 Question Id : 9983676946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

We enjoyed the gondola ride the long waiting time

for tickets.

Options:



1. = even though
2. = although
3. v despite
4. = however

Question Number : 123 Question Id : 9983676947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate phrase.

The young actor’s lung cancer was by many years of
smoking.

Options:

1. ¥ brought on
2. = brought up
3. = brought out
4. = prought off

Question Number : 123 Question Id : 9983676947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate phrase.

The young actor’s lung cancer was by many years

of smoking.

Options:

1. v brought on
2. ® brought up
3. = brought out
4, = brought off



Question Number : 124 Question 1d : 9983676948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate phrase.

My best friend and I went to college in different cities and
slowly found ourselves though I tried to get close to him
again.

Options:

1. = feeling apart
2. v drifting apart
3. * being apart

4. = walking apart

Question Number : 124 Question Id : 9983676948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate phrase.

My best friend and | went to college In different cities and
slowly found ourselves though | tried to get close to

him again.

Options:

1. = feeling apart
2. v dnfting apart
3. = being apart

4, = walking apart

Question Number : 125 Question Id : 9983676949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate idiom.

Rashmi was quite distraught after the tragic accident. I tried
my best to get her to :

Options:

1. = break the ice

2. v pull herself together

3. » throw caution to the wind
4. = ]let sleeping dogs lie

Question Number : 125 Question Id : 9983676949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate idiom.

Rashmi was quite distraught after the tragic accident. | tried

my best to get her to

Options:

1. = break the Ice

2. v pull herself together
3. = throw caution to the wind
4. = |let sleeping dogs lie

Question Number : 126 Question Id : 9983676950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

A young woman in a black silk saree was waiting near
the gate for us.

Options:

1. * had dressed



2. = dressing
3. = dresses
4. v dressed

Question Number : 126 Question Id : 9983676950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

A young woman In a black silk saree was waiting

near the gate for us.

Options:

1. = had dressed
2. % dressing
3. = dresses

4. v dressed

Question Number : 127 Question Id : 9983676951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

My daughter outside while the opticlan was testing my
eyes.

Options:

1. v waited

2. = 13 walting

3. » has waited

4. = has been waiting

Question Number : 127 Question Id : 9983676951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

My daughter outside while the optician was testing

my eyes.
Options:

1. v waited
2. * I1s walting
3. * has walted

4. = has been walting

Question Number : 128 Question Id : 9983676952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Since 2017, my sister and I to make a trip to Eastern
Europe.

Options:

1. = 1s being planned

2. = has planned

3. » are planned

4. v have been planning

Question Number : 128 Question Id : 9983676952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Since 2017, my sister and | to make a trip to

Eastern Europe.

Options:



1. = I1s being planned
2. * has planned
3. = are planned

4. v have been planning

Question Number : 129 Question Id : 9983676953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate word.

You cannot join us as a teacher you sign a contract.

Options:

1. = if

2. v unless

3. = because
4. = however

Question Number : 129 Question Id : 9983676953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with the most appropriate word.

You cannot join us as a teacher you sign a contract.
Options:
1. = f

2. ¢ unless
3. * because

4. = however

Question Number : 130 Question Id : 9983676954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

The person I am working on this project is a very senior
colleague.

Options:

1. = for who

2. » With them
3. v with whom
4. = 1o whom

Question Number : 130 Question Id : 9983676954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The person | am working on this project I1s a very

senior colleague.

Options:

1. = for who
2. = with them
3. v with whom

4. = to whom

Question Number : 131 Question Id : 9983676955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported
speech.

The minister, who was late, said, “I'm really sorry to have
kept you waiting. Bad weather delayed my flight.”

Options:



1. ¥ The minister, who was late, apologised for having kept us
waiting. He explained that bad weather had delayed his flight.

2. * The minister apologised for being late, and said he was
really sorry to have Kept us waiting. It is bad weather that
would delay his flight.

3. » The minister, who was late, was apologised for having
kept us waiting. He told us that it was bad weather that had
delayed his flight.

4. = The minister, who was late, said that he is really sorry to
have kept us waiting. Bad weather delayed his flight.

Question Number : 131 Question Id : 9983676955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

reported speech.

The minister, who was late, said, “I'm really sorry to have

kept you walting. Bad weather delayed my flight.”

Options:

1. v The minister, who was late, apologised for having kept
us waiting. He explained that bad weather had delayed his
flight.

2. = The minister apologised for being late, and said he
was really sorry to have kept us waliting. It is bad weather

that would delay his flight.



3. » The minister, who was late, was apologised for having

kept us waiting. He told us that it was bad weather that
had delayed his flight.

4. = The minister, who was late, said that he I1s really sorry

to have kept us waiting. Bad weather delayed his flight.

Question Number : 132 Question Id : 9983676956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported
speech.

Rohit said, “Are you not being hasty in taking the decision to
give up your job? If I were you I would think carefully before
quitting.”

Options:

1. = Rohit said to me if I was not being hasty in taking the
decision to give up my job. He further says that if he were in
my place he will have thought carefully before quitting.

2. = Rohit asked me not to be hasty in taking the decision to
give up my job. He also remarked that if I were in your place
I would have thought carefully before quitting.

3. v Rohit asked me if I was not being hasty in taking the
decision to give up my job. He further remarked that if he
were In my place he would have thought carefully before
quitting.

4. = Rohit questions me if I was not being hasty in taking the
decision to give up my job. He further said that if he were in
my place he would have thought carefully before quitting.

Question Number : 132 Question Id : 9983676956 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

reported speech.

Rohit said, “Are you not being hasty In taking the decision
to give up your job? If | were you | would think carefully

before quitting.”
Options:

1. = Rohit said to me If | was not being hasty In taking the
decision to give up my job. He further says that if he were

in my place he will have thought carefully before quitting.

2. » Rohit asked me not to be hasty in taking the decision
to give up my job. He also remarked that if | were in your

place | would have thought carefully before quitting.

3. v Rohit asked me If | was not being hasty in taking the
decision to give up my job. He further remarked that if he
were In my place he would have thought carefully before
quitting.

4. = Rohit questions me If | was not being hasty in taking
the decision to give up my job. He further said that if he
were In my place he would have thought carefully before

quitting.

Question Number : 133 Question Id : 9983676957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

Rama doesn’t work in a multinational company, ?

Options:

1. v does she

2. » doesn’t she
3. = Isn’t she

4. = is she

Question Number : 133 Question Id : 9983676957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Rama doesn’t work In a multinational company, ?

Options:

1. v does she
2. = doesn’t she
3. # Isn't she
4. = 1s she

Question Number : 134 Question Id : 9983676958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

The junior cricket team had planned to participate in the
coaching camp but had to drop the plan due to clash in dates.

Options:
1. = The junior cricket team was planning to participate in the
coaching camp but had to be dropped due to clash in dates.



2. v It had been planned by the junior cricket team that they
would participate in the coaching camp but the plan had to be
dropped due to clash in dates.

3. » The junior cricket team had been planning to participate
in the coaching camp but had dropped the plan due to clash
in dates.

4. = The junior cricket team was planning to participate in the
coaching camp but had to drop it due to clash in dates.

Question Number : 134 Question Id : 9983676958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

passive voice.

The junior cricket team had planned to participate in the
coaching camp but had to drop the plan due to clash In

dates.

Options:

1. = The junior cricket team was planning to participate In
the coaching camp but had to be dropped due to clash in

dates.

2. v It had been planned by the junior cricket team that
they would participate in the coaching camp but the plan

had to be dropped due to clash in dates.

3. = The junior cricket team had been planning to
participate in the coaching camp but had dropped the plan

due to clash in dates.



4. = The junior cricket team was planning to participate In

the coaching camp but had to drop 1t due to clash In dates.

Question Number : 135 Question Id : 9983676959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

I would have helped you if I had seen some politeness in your
request instead of this rude behavior.

Options:

1. * You had been helped if I had seen some politeness in your
request instead of this rude behavior.

2. » I would have been helped by you if I had seen some
politeness in your request instead of this rude behavior.

3. * I would be helping you if I had seen some politeness in
your request instead of this rude behavior.

4. v You would have been helped if some politeness had been
seen In your request, instead of this rude behavior.

Question Number : 135 Question Id : 9983676959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

passive voice.

| would have helped you If | had seen some politeness in

your request instead of this rude behavior.

Options:

1. * You had been helped if | had seen some politeness In

your request instead of this rude behavior,



2. » | would have been helped by you if | had seen some

politeness In your request Instead of this rude behavior,

3. = | would be helping you If | had seen some politeness

In your request instead of this rude behavior.

4. v You would have been helped If some politeness had

been seen In your request, instead of this rude behavior.

Question Number : 136 Question Id : 9983676960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words/phrases have been
underlined. Select the words/phrase that contains an error.

It was a great day for the Indian Military then the foundation

stone for the National Defence Academy was laid on 6
October 1949 by the then Prime Minister of India, Jawaharlal
Nehru.

Options:

1. = It was a great day

2. v then the foundation stone
3. = for the National Defence Academy was laid on
4. = by the then Prime Minister

Question Number : 136 Question Id : 9983676960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the sentence given below, four words/phrases have been

underlined. Select the words/phrase that contains an error.

It was a great day for the Indian Military then the

foundation stone for the National Defence Academy was laid

on 6 October 1949 by the then Prime Minister of India,

Jawaharlal Nehru.

Options:

1. = It was a great day
2. v then the foundation stone
3. = for the National Defence Academy was laid on

4. = by the then Prime Minister

Question Number : 137 Question Id : 9983676961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words/phrases have been
underlined. Select the words/phrase that contains an error.

He went to Shimla again there because he wanted to relive
memories of his stay.

Options:

1. = went to Shimla

2. v again there because
3. » to relive memories
4. = of his stay

Question Number : 137 Question Id : 9983676961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the sentence given below, four words/phrases have been

underlined. Select the words/phrase that contains an error.

He went to Shimla again there because he wanted to relive

memories of his stay.

Options:

1. = went to Shimla

2. v again there because
3. # to relive memories

4. = of his stay

Question Number : 138 Question Id : 9983676962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words/phrases have been
underlined. Select the words/phrase that contains an error.

After I saw the movie I was so impressed by the characters
portrayed in it, I decided that to buy the book.

Options:

1. = saw the movie

2. » was so impressed
3. » I decided
4. v that to buy

Question Number : 138 Question Id : 9983676962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the sentence given below, four words/phrases have been

underlined. Select the words/phrase that contains an error.

After | saw the movie | was so impressed by the

characters portrayed in it, | decided that to buy the book.

Options:

1. = saw the movie

2. % was so Impressed
3. = | decided

4. v that to buy

Question Number : 139 Question Id : 9983676963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the best way to improve the underlined part of the
given sentence. If there i1s no improvement required, select ‘no
improvement required’.

Even though I says I'm unable to accompany her to the
market, Aanya insisted I should go with her.

Options:

1. = said my inability

2. v expressed my inability
3. » was expressing to be unable
4. = No improvement required

Question Number : 139 Question Id : 9983676963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the best way to improve the underlined part of the
given sentence. If there i1s no improvement required, select

‘no Improvement required’.

Even though | says I'm unable to accompany her to the

market, Aanya Iinsisted | should go with her.

Options:

1. = said my inability
2. v expressed my inability
3. = was expressing to be unable

4, = No improvement required

Question Number : 140 Question 1d : 9983676964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the best way to improve the underlined part of the
given sentence. If there is no improvement required, select ‘no
improvement is required’.

My university exams are beginning on 15th May, so I cannot
afford to waste time now.

Options:

1. = would not afford

2. = am not affording

3. » will not affords

4. v No improvement is required

Question Number : 140 Question Id : 9983676964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the best way to improve the underlined part of the
given sentence. If there i1s no improvement required, select

‘no iImprovement Is required’.

My university exams are beginning on 15th May, so |

cannot afford to waste time now.

Options:

1. = would not afford
2. » am not affording
3. = will not affords

4, v No improvement Is required
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Question Number : 141 Question Id : 9983676965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate synonym of the underlined
word.

Listening to recordings a few times is a method that works
best for people who memorise audio information better.

Options:

1. « understand

2. » forget
3. v retain
4. = categorise

Question Number : 141 Question 1d : 9983676965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

Listening to recordings a few times I1s a method that works

best for people who memorise audio Iinformation better.

Options:

1. = understand

2. = forget
3. v retain

4, = categorise

Question Number : 142 Question Id : 9983676966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the most appropriate synonym of the underlined
word.

Changing your Wi-Fi password frequently resets your router’s
security, keeping away malicious hackers.

Options:

1. v wicked

2. * harmless
3. % envious
4. = pbvious

Question Number : 142 Question 1d : 9983676966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

Changing your Wi-FI password frequently resets your

router's security, keeping away malicious hackers.

Options:

1. v wicked

2. * harmless
3. ® envious
4. = obvious

Question Number : 143 Question Id : 9983676967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the most appropriate synonym of the underlined
word.

The diminutive and weak-looking speaker attracted listeners
with her powerful speech.

Options:

1. » sick

2. % agile

3. v small

4. = nervous

Question Number : 143 Question 1d : 9983676967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

The diminutive and weak-looking speaker attracted listeners

with her powerful speech.

Options:

1. = sick
2. % aglle
3. v small

4. ® nervous

Question Number : 144 Question Id : 9983676968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the most appropriate synonym of the underlined
word.

The snail lodged itself in a crevice among the boulders and
stayed there throughout the night.

Options:

1. = corner
2. v crack
3. = side

4. = gash

Question Number : 144 Question 1d : 9983676968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

The snall lodged itself in a crevice among the boulders and

stayed there throughout the night.

Options:

1. = corner
2. v crack
3. = side
4, = gash

Question Number : 145 Question Id : 9983676969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

The earthquake In Nepal caused extensive damage and

devastation.




Options:

1. v destruction
2. % slaughter

3. = conservation
4,

% diversion

Question Number : 145 Question Id : 9983676969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate synonym of the underlined
word.

The earthquake in Nepal caused extensive damage and
devastation.

Options:

1. v destruction

2. » slaughter
3. % conservation
4. = diversion

Question Number : 146 Question Id : 9983676970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

The candidate could not win over people as his speech was
eloquent.

Options:

1. * amiable

2. = charming
3. » perfect



4. v ineffective

Question Number : 146 Question Id : 9983676970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate ANTONYM of the underlined

word.

The candidate could not win over people as his speech was

eloguent.

Options:

1. = amiable

2. = charming
3. = perfect

4. v neffective

Question Number : 147 Question Id : 9983676971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

Because of his odious behavior, he could not make friends.

Options:

1. = confusing
2. v delightful
3. = abhorrent
4. = detestable

Question Number : 147 Question Id : 9983676971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the most appropriate ANTONYM of the underlined

word.

Because of his odious behavior, he could not make friends.

Options:

1. = confusing
2. v delightful

3. % abhorrent

4. = detestable

Question Number : 148 Question Id : 9983676972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

The romantic setting was just right for shooting the scene.

Options:

1. = pensive
2. = beautiful
3. = mysterious

4. v realistic

Question Number : 148 Question Id : 9983676972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate ANTONYM of the underlined

word.

The romantic setting was just right for shooting the scene.

Options:




1. = pensive
2. = beautiful
3. ®* mysterious
4. v realistic

Question Number : 149 Question Id : 9983676973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

The amateurish handling of the project by the team of
managers really surprised me.

Options:

1. = Inept

2. v competent
3. = prompt
4. = remarkable

Question Number : 149 Question Id : 9983676973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate ANTONYM of the underlined

word.

The amateurish handling of the project by the team of

managers really surprised me.

Options:

1. = Inept

2. v competent



3. ® prompt
4. = remarkable

Question Number : 150 Question Id : 9983676974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

The farmers are determined to for their rights.

Options:

1. = stand over
2. = stand by
3. = stand out
4. v stand up

Question Number : 150 Question Id : 9983676974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

The farmers are determined to for their rights.

Options:

1. = stand over
2. % stand by

3. # stand out
4

. v stand up

Sub-Section Number: 2
Sub-Section 1d: 998367433
Question Shuffling Allowed : Yes

Question Id : 9983676975 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)



Question Label : Comprehension



Read the passage and answer the questions that follow.

No standardised tests, no private schools, no stress. Finland's
education system is consistenty ranked best in the world.
Why isn't America copying it? Time and time again, American
students continually rank near the middle or bottom among
industrialised nations when it comes to performance in math
and science. The Program for Internaticnal Student
Assessment (PISA) which in conjunction with the
Organization for Economic Cooperation and Development
(OECD) routinely releases data which shows that Americans
are seriously lagging behind in a number of educational
performarce assessments.

Despite calls for education reform and a continual lacklustre
performance on the international scale, not a lot is being done
or changing within the educational system. Many private and
public schools run on the same antiquated systems and
schedules that were once conducive to an agrarian society.
The mechanisation and rigid assembly-line methods we use
today are spitting out ill-prepared worker clones, rudderless
adults and an uninformed populace. But ne amount of
pontificating will change what we already know. The
American education system needs to be completely revamped
— from the first grade to the Ph.D. It's going to take a lot more
than a well-meaning celebrity project to do that.

Many people are familiar with the stereotype of the hard-
working, rote memorisation, myopic tunnel vision of Eastern
Asian study and work ethics. Many of these countries, like
China, Singapore, and Japan amoengst others routinely rank in
the number one spots in both, math and science.

Some pundits point towards this model of exhaustive brain
draining as something Americans should aspire to become.
Work more! Study harder! Live less. The facts and figures
don't lie — these countries are ocutperforming us, but there
might be a better and healthier way to go about this.

Finland is the answer — a country rich in intellectual and
educational reform has initiated over the years a number of
novel and simple changes that have completely revolutionised
their educational system. They outrank the United States and
are gaining on Eastern Asian countries.

Are they cramming in dimly-lit reoms on robotic schedules?
Nope. Stressing over standardised tests enacted by the
government? No way. Finland is leading the way because of
common-sense practices and a holistic teaching environment
that strives for equity over excellence. Staying in line with
our print-minded sensibilities, standardised testing is the
hlanket way we test for subject comprehension. Filling in
little bubbles on a scantren and answering pre-scanned
questions is somehow supposed to be a way to determine
mastery or at least competence of a subject. Students often
learn to cram just to pass a test and teachers teach with the
sole purpose of students passing a test. Learning has been
thrown out of the equation.

Finland has no standardised tests. All children throughout
Finland are graded on an individualised basis and grading
system set by their teacher and take a voluntary test at the
end of upper-secondary school.



Sub questions

Question Number : 151 Question Id : 9983676976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is wrong with the education system of the US?

Options:

1. = There are no tests to measure how students are
performing

2. = Students are getting individualised lessons as per their
needs

3. = Students pass tests that determine how well they have
learnt concepts

4. v The mechanisation and rigid method of treating students
as if they are in an assembly line

Question Number : 152 Question Id : 9983676977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the writer’s appeal?

Options:

1. = Copy methods used by Finland

2. = Learn from East Asian countries

3. v Revamp the education system of USA

4. = Visit these countries to learn about their system

Question Number : 153 Question Id : 9983676978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What do countries like Japan and Singapore NOT do?

Options:

1. = Make students work hard and outperform others
2. = Stress on memorising lessons

3. » Prescribe too many standardized tests

4. v Have a single-minded focus on studies



Question Number : 154 Question Id : 9983676979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an educational practice
followed by Finland?

Options:

1. = Using common-sense practices that are useful in helping
learners learn.

2. = A teaching environment that stresses on whole student
development and equal opportunity to all learners.

3. v Getting students to answer lots of MCQs on a scantron to
achieve high scores.

4. = Teaching students to answer questions to show real
mastery or knowledge of a subject.

Question Number : 155 Question 1d : 9983676980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the writer says, ‘learning has been thrown out of the
equation’ she means that

Options:

1. v the focus of schools is not on real learning
2. » the system Is providing equal opportunities to all learners

3. = there is stress on good teaching methods instead of
students’ learning

4. = stress is more on building an environment that is good
for learning

Question Id : 9983676975 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions that follow.

No standardised tests, no private schools, no stress.
Finland's education system is consistently ranked best in the
world. Why isn't America copying it? Time and time again,
American students continually rank near the middle or
bottom among industrialised nations when it comes to
performance in math and science. The Program for
International Student Assessment (PISA) which in
conjunction with the Organization for Economic Cooperation
and Development (OECD) routinely releases data which
shows that Americans are seriously lagging behind in a
number of educational performance assessments.

Despite calls for education reform and a continual lacklustre
performance on the international scale, not a lot is being
done or changing within the educational system. Many
private and public schools run on the same antiquated
systems and schedules that were once conducive to an
agrarian society. The mechanisation and rigid assembly-line
methods we use today are spitting out ill-prepared worker
clones, rudderless adults and an uninformed populace. But
no amount of pontificating will change what we already
know. The American education system needs to be
completely revamped - from the first grade to the Ph.D. It's
going to take a lot more than a well-meaning celebrity

project to do that.

Many people are familiar with the stereotype of the hard-

working, rote memorisation, myopic tunnel vision of Eastern
Asian study and work ethics. Many of these countries, like
China, Singapore, and Japan amongst others routinely rank

in the number one spots in both, math and science.

Some pundits point towards this model of exhaustive brain
draining as something Americans should aspire to become.
Work morel Study harderl Live less. The facts and figures
don't lie - these countries are outperforming us, but there

might be a better and healthier way to go about this.

Finland is the answer - a country rich in intellectual and
educational reform has initiated over the years a number of
novel and simple changes that have completely
revolutionised their educational system. They outrank the

United States and are gaining on Eastern Asian countries.

Are they cramming in dimly-lit rooms on robotic schedules?
Nope. Stressing over standardised tests enacted by the
government? No way. Finland is leading the way because
of common-sense practices and a holistic teaching
environment that strives for equity over excellence. Staying
in line with our print-minded sensibilities, standardised
testing is the blanket way we test for subject
comprehension. Filling in little bubbles on a scantron and
answering pre-scanned questions is somehow supposed to
be a way to determine mastery or at least competence of a
subject. Students often learn to cram just to pass a test
and teachers teach with the sole purpose of students
passing a test. Learning has been thrown out of the

equation.

Finland has no standardised tests. All children throughout
Finland are graded on an individualised basis and grading
system set by their teacher and take a voluntary test at the

end of upper-secondary school.



Sub questions

Question Number : 151 Question Id : 9983676976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What 1s wrong with the education system of the US?

Options:

1. = There are no tests to measure how students are

performing

2. = Students are getting Iindividualised lessons as per their

needs

3. ® Students pass tests that determine how well they have

learnt concepts

4. v The mechanisation and rnigid method of treating

students as If they are in an assembly line

Question Number : 152 Question Id : 9983676977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What I1s the writer’s appeal?

Options:

1. = Copy methods used by Finland
2. = Learn from East Asian countries
3. v Revamp the education system of USA

4. = Visit these countries to learn about their system

Question Number : 153 Question Id : 9983676978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What do countries like Japan and Singapore NOT do?

Options:

1. = Make students work hard and outperform others



2. » Stress on memorising lessons
3. = Prescribe too many standardized tests

4, v Have a single-minded focus on studies

Question Number : 154 Question Id : 9983676979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s NOT an educational practice

followed by Finland?

Options:

1. = Using common-sense practices that are useful In

helping learners learn.

2. = A teaching environment that stresses on whole student

development and equal opportunity to all learners.

3. v Getting students to answer lots of MCQUs on a

scantron to achieve high scores.

4, = Teaching students to answer questions to show real

mastery or knowledge of a subject.

Question Number : 155 Question Id : 9983676980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the writer says, ‘learning has been thrown out of the

equation’ she means that

Options:

1. v the focus of schools 1s not on real learning

2. % the system is providing equal opportunities to all

learners



3. » there Is stress on good teaching methods instead of

students’ learning

4, = stress is more on building an environment that is good

for learning

Sub-Section Number: 3
Sub-Section 1d: 998367434
Question Shuffling Allowed : Yes

Question Id : 9983676981 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

(Question Label : Comprehension



Read the following passage and answer the questions that
follow.

Bhikaji Cama was born on 24 September 1861 into a large,
affluent Parsi family. Her father, Sorabji Framji Patel, was a
famous merchant and philanthropist in the city of Bombay
and Madam Bhikaji Cama herself became an active social
worker. Influenced by an environment in which the Indian
nationalist movement was taking root, Bhikaji was drawn
toward political issues from a very early age.

During the epidemic of bubonic plague that hit Mumbai in
1896, she herself got infected with the disease while providing
ald to the others and she was sent to Britain for her
treatment. In 1902, Bhikaji left India for London which was to
become her home for the rest of life. She was advised to go to
Europe for rest and recuperation.

Throughout her life, she struggled for Indian Independence
from abread. On 22nd August 1907, she unfurled the Indian
flag (Flag of Indian Independence) in Stuttgart, Germany
while attending the International Socialist Conference. There
she raised her voice for human rights and equality in India.

The fiery lady then announced, “This is the flag of
independent India. I appeal to all gentlemen to stand and
salute the flag.” Surprised by the dramatic incident, all the
representatives at the conference stood up and saluted the
first flag of independent Hindustan. Madam Cama had
wanted to bring the poverty, starvation and oppression under
the British Raj, as also India’s thirst for freedom to the
attention of the international community and she had
succeeded.

This was no mean achievement. Indian independence was 40
years away, and the world was still unaware of the burning
patriotism of the thousands of young Indians who were ready
to lay down their lives to free their country from colonial
rule. During her stay in London, she got a message from the
British that her return to India would be prohibited unless
she would sign a statement promising not to participate in
nationalist activities. She refused to make such a promise and
remained in exile in Europe.

After Stuttgart, Bhikaji went to United States whetre she
travelled a lot, informing Americans about India’s struggle for
independence. She also fought for the cause of women and
often stressed on the role of women in building a nation.
Speaking at National Conference at Cairo, Egypt in 1910, she
asked, “Where is the other half of Egypt? I see only men who
represent half the country! Where are the mothers? Where
are the sisters? You must not forget that the hands that rock
cradles also build persons.”

Cama remained in exile in Europe until 1935, when, gravely
ill and paralysed by a stroke that she had suffered earlier that
year, she petitioned the British government to be allowed to
return home. Knowing that she was not in a condition to
participate in the freedom struggle, she was granted
permission to return to India after 33 long years.

In November 1935, 74-year-old Bhikaji finally returned to
Mumbai, but did not live for long. Having fulfilled her desire
of seeing her motherland once again, she breathed her last on
13 August 1936.



Sub questions

Question Number : 156 Question Id : 9983676982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhikaji left for Britain in order to:

Options:

1. = raise awareness about India’s struggle for independence
2. v recover from the plague

3. = unfurl the Indian flag abroad

4. = escape punishment from the Britishers

Question Number : 157 Question Id : 9983676983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was Bhikaji Cama’s significant achievement at Stuttgart?

Options:
1. = She attended the International Socialist Conference
despite being a woman

2. v She unfurled India’s flag and got all the delegates to
salute it

3. = She fought there for the cause of women
4. = She recovered her health there

Question Number : 158 Question Id : 9983676984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the dates with events:

a) When she was 41 years 1) Went to Egypt and raised
awareness that women should
participate in all causes

b) In the year 1907 2) Remained away from the
country

¢) When she was 49 vears old 3) Left India

d) For 33 vyears of her life 4) Raised the national flag and
her voice for human rights in
India

Options:

1. = a-4; b-3;¢-1; d-2



2. % a-3;b-1;¢-2;d4
3. % a-4; b-3; c-2; d-1
4. v a-3;b4;c1;d-2

Question Number : 159 Question Id : 9983676985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT true according to
the passage?
Options:

1. * Cama did not give in under British pressure for
submission

2. » Cama fought keenly for women’s rights and opportunities

3. » Cama was bold enough to draw attention to the atrocities
of Britishers in India

4. v Cama signed a statement that she would not participate
in nationalist activities.

Question Number : 160 Question Id : 9983676986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Madam Bhikaji’s life is an inspiration for:

Options:

1. v all women and freedom fighters

2. = the International community

3. = representatives at the conference in Cairo
4. » socilal workers

Question Id : 9983676981 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that

follow.

Bhikaji Cama was born on 24 September 1861 into a large,
affluent Parsi family. Her father, Sorabji Framji Patel, was a
famous merchant and philanthropist in the city of Bombay
and Madam Bhikaji Cama herself became an active social
worker. Influenced by an environment in which the Indian
nationalist movement was taking root, Bhikaji was drawn

toward political issues from a very early age.

During the epidemic of bubonic plague that hit Mumbai in
1896, she herself got infected with the disease while
providing aid to the others and she was sent to Britain for
her treatment. In 1902, Bhikaji left India for London which
was to become her home for the rest of life. She was

advised to go to Europe for rest and recuperation.

Throughout her life, she struggled for Indian Independence
from abroad. On 22nd August 1907, she unfurled the Indian
flag (Flag of Indian Independence) in Stutigart, Germany
while attending the International Socialist Conference. There

she raised her voice for human rights and equality in India.

The fiery lady then announced, “This is the flag of
independent India. | appeal to all gentlemen to stand and
salute the flag.” Surprised by the dramatic incident, all the
representatives at the conference stood up and saluted the
first flag of independent Hindustan. Madam Cama had
wanted to bring the poverty, starvation and oppression under
the British Raj, as also India’s thirst for freedom to the
attention of the international community and she had

succeeded.

This was no mean achievement. Indian independence was
40 years away, and the world was still unaware of the
burning patriotism of the thousands of young Indians who
were ready to lay down their lives to free their country from
colonial rule. During her stay in London, she got a message
from the British that her return to India would be prohibited
unless she would sign a statement promising not to
participate in nationalist activities. She refused to make such

a promise and remained in exile in Europe.

After Stuttgart, Bhikaji went to United States where she
travelled a lot, informing Americans about India’s struggle
for independence. She also fought for the cause of women
and often stressed on the role of women in building a
nation. Speaking at National Conference at Cairo, Egypt in
1910, she asked, “Where is the other half of Egypt? | see
only men who represent half the countryl Where are the
mothers? Where are the sisters? You must not forget that

the hands that rock cradles also build persons.”

Cama remained in exile in Europe until 1935, when, gravely
ill and paralysed by a stroke that she had suffered earlier
that year, she petitioned the British government to be
allowed to return home. Knowing that she was not in a
condition to participate in the freedom struggle, she was

granted permission to return to India after 33 long years.

In November 1935, 74-year-old Bhikaji finally returned to
Mumbai, but did not live for long. Having fulfilled her desire
of seeing her motherland once again, she breathed her last
on 13 August 1936.



Sub questions

Question Number : 156 Question Id : 9983676982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhikaji left for Britain in order to:

Options:

1. = raise awareness about India’s struggle for independence
2. v recover from the plague
3. # unfurl the Indian flag abroad

4. = escape punishment from the Britishers

Question Number : 157 Question Id : 9983676983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was Bhikaj Cama’s significant achievement at
Stuttgart?

Options:

1. = She attended the International Socialist Conference

despite being a woman

2. v She unfurled India’s flag and got all the delegates to

salute 1t
3. = She fought there for the cause of women

4. = She recovered her health there

Question Number : 158 Question Id : 9983676984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Match the dates with events:

a) When she was 41 years 1) Went to Egypt and raised
awareness that women should
participate in all causes

b) In the year 1907 2) Remained away from the
country

¢) When she was 49 vyears old 3) Left India

d) For 33 years of her life 4) Raised the national flag and
her voice for human rights in
India

Options:

1. = a-4; b-3; c-1; d-2
2. % a-3; b-1; ¢c-2; d-4
3. = a-4; b-3; c-2; d-1
4. v a-3; b-4; c-1; d-2

Question Number : 159 Question Id : 9983676985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements 1s NOT true according to

the passage?
Options:

1. = Cama did not give in under British pressure for

submission

2. = Cama fought keenly for women’s rights and

opportunities

3. = Cama was bold enough to draw attention to the

atrocities of Britishers In India

4, v Cama signed a statement that she would not

participate In nationalist activities.

Question Number : 160 Question Id : 9983676986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Madam Bhikaji’'s life 1s an inspiration for:

Options:

1. v all women and freedom fighters
2. = the International community
3. = representatives at the conference in Cairo

4. = soclal workers
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Question Number : 161 Question Id : 9983676987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TATIR T ST, a2

Options:



1. # dege
2. % gogd
3. % T

4, v A&t

Question Number : 161 Question Id : 9983676987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SR AT oleg &7

Options:

1. = dzd
2. % dcdH
3. % ZeeT
4. v @ee

Question Number : 162 Question Id : 9983676988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeeT & O e OT osg TR &7

Options:

1. v 3TTRE
2. = I
3. = A

4. = IHA

Question Number : 162 Question 1d : 9983676988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y & & &I 9T 9ee, a2 37

Options:

1. v UG
2. % TT9r
3. % T



4, = THT

Question Number : 163 Question 1d : 9983676989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & I BT 9T e goaw §?

Options:

1. = T
2. % ¢fesT

3.v YA
4. = Yol

Question Number : 163 Question Id : 9983676989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeeT A & i @7 25 dcdH &7

Options:

1. = ol
2. » T
3.«?%13?

4. = g

Question Number : 164 Question Id : 9983676990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T g ad=t arelT <16 3

Options:

1. * YTHETON G
2. v UTHTOIR
3. = GHTUIGD
4, = YOS

Question Number : 164 Question Id : 9983676990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & & g ader arel oree &:

Options:




v UTHIOIR
THTOTR
x TTHTOIR

ol
#®

Question Number : 165 Question Id : 9983676991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3Tt — 3fTclerver Aec, JTH BT Tal 319 2

1. = Siter — ¥ERT
2. v GERT — &ter
3. % QI -

4, * Y — GgRT

Question Number : 165 Question Id : 9983676991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3aeles - JidelFs oee JIA FT Tl 37 &

Options:

1. = 2TEr - 98N
2. v UaNT - o
3. = ol - &I

4. = AT - HENT

Question Number : 166 Question Id : 9983676992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o Thg qar $f IT 87

Options:

1. * ST
2. % TYchalT<Idh
3. » TTdAr®




4, v HTdTdd

Question Number : 166 Question Id : 9983676992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P fvg whR FT a1 &7

1. = SATTqdT<reh

[~
2. % TI[Fddldeh

4. v AR

Question Number : 167 Question Id : 9983676993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y AT DT TICATITETAID (a0 3

Options:

1. = 44T
2. % 3dAT
3. v Tdaar
4. » NaAT

Question Number : 167 Question Id : 9983676993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G GdITH T GRATOGOS 92T &:

Options:

1. = ST
2. % 3ol
3. v fader
4. » Toicat

Question Number : 168 Question Id : 9983676994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTgd” Thg YT T TS g2




Options:

1. v TR

2. % GEATITN
3. = UTCHTUT Ireh
4. % TG

Question Number : 168 Question Id : 9983676994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEL forg Ui T faeiyor §7

Options:

1. ¢ J0TdIh
o

2. % EATATIHh
3. % TNATOT Seeh
4.

T i
® dlddallden

Question Number : 169 Question 1d : 9983676995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y & armda® o1 3

Options:

1. * qisAT
2. v TheHAT
3. = BT
4. % ST

Question Number : 169 Question Id : 9983676995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

freT & sthash aTq &

Options:

1. = dIgar
2. v Thedl
3. * @®IZaT




4. % IS

Question Number : 170 Question Id : 9983676996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TP oTT HTF Gl g T | TohdT Tereiyor g

Options:

1. » Uk
2. % oIl
3. vHIT
4, = g g

Question Number : 170 Question Id : 9983676996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Teh oloall AT 5T & areFg H Tohar aeivor §:

Options:

1. = TR

2. ® oloall

3. v HT

4., » §4T §

Question Number : 171 Question 1d : 9983676997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST &7 Y18 Tdwoe, g

Options:

1. v UC + 37
2. % YT + 3
3. % UG + I
4, = G + 3T

Question Number : 171 Question Id : 9983676997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘§STeTel T TTT Td<wde B

Options:




1. v ¢ + 3Telel
2. » §¢ + 3ol
3. = Y5 + 3Tl
4, = Y5 + 3cldl

Question Number : 172 Question Id : 9983676998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSiaette § o 9T U 57

Options:

1. = qcgey

2. % g&

3. = I

4. v Igeiiig

Question Number : 172 Question Id : 9983676998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSTgelel H i T TAH &7

Options:

T« Teges
2. = gded
3. = 3IATHIT
4. v SEAITE

N

Question Number : 173 Question Id : 9983676999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeIg H Thd IUFI T TIIT §3IT g7

Options:

1. 7
2. % T
3. v Ud



4, = Y

Question Number : 173 Question 1d : 9983676999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘W&T’ﬁﬁ?ﬂmﬂ‘rwmgmﬁ?

Options:

1. = T
2. = 9
3. v ufa
4. = &

Question Number : 174 Question Id : 9983677000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # The Uedd ol YT g3 g2

Options:

1. =/

2. % HT
3. % 31T
4, v SHT

Question Number : 174 Question Id : 9983677000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ANAT H T UcTT 1;|'e:|’I?T§31T%‘?

Options:

1. = H

2. = HAI
3. = 3
4. v ZHT

Question Number : 175 Question Id : 9983677001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T BT 91 e SNfelm 2



Options:

1. * TSI
2. v Yq
3. % YT
4, = &ff

Question Number : 175 Question Id : 9983677001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faesT # O hieT TOT <Teg THITeldT &7

Options:

1. = €37
2. v g9
3. = T
4, = €I

Question Number : 176 Question Id : 9983677002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ~ARATAT & ~ATATETS [ Tea=e T 3T 572

Options:

1. v 9T Ua=4I
2. * AATH UCaY
3. » TASIWUT Uce=er
4, » TohdT Uas=e

Question Number : 176 Question Id : 9983677002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTRITH I o wOraTder T Uedeel T 3cIgdoT &7

Options:

1. v AT USdeeT
2. » TGdATH USFeel
3. = [3YUT yogeer




4. = TopdT USHeT

Question Number : 177 Question Id : 9983677003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T T SXGdT §, T 16 ATl gl’ ATFT § T U1 6T g 1hg Th

T JUCTTY g7

Options:

1. * 9T 3UATF

2. % TaQqr IATFT

3. = TohaT SueTaT

4. v Torar fareruor Saraa

Question Number : 177 Question Id : 9983677003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST UTell ST §, a9 &6 3l g’ ag # S« UTalr sigdr
& g U T 3Udad g7

Options:

1. = FaT 39dTed

2. = [O9YUT 3UaTeRy

3. = forar 39aTeHy

4. v Topar [aeyor 3UaEw

Question Number : 178 Question Id : 9983677004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST Tt TRYW BT, I8 TherdT e Welilll’ g YR & a1ad 32

Options:

1. # IIeT dATHY
2. % GGh aATFd
3. v Wy g
4, = JUAIFT

Question Number : 178 Question Id : 9983677004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S Taeared afvsre 39, 38 ®edar 3y TAeel’ ha Th

T ATFT &7

Options:

1. = Il diay

2. = H-’:-l:ci—d GIER)
3. v T8 gy
4. % IUATHET

Question Number : 179 Question Id : 9983677005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCSHH T &8 & I FT a1 e 87

Options:

1. = @7 3T GT g IRAT?
2. v T YT 31T Gt 82
3. * AT LG 3 AT GiAT?
4, = AT 31T W@l g aAT?

Question Number : 179 Question Id : 9983677005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qesha T ETCE A wieT AT AT A& B

Options:

1. = T 3T BT & giar?
2. v T §RAT 3T &I &7
3. % 3T I&T § T gRar?
4, = GRAT 37 @I & 17

Question Number : 180 Question Id : 9983677006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3vag Pl &8 I I AT AT L 872

Options:

1. v AT S T ©ONST 3N T gredT Sl




2. % WIIgL = Uap ©IST 3T Tep greft sl
3. * HAIgT 7 Uep ©1ST 3R Uah grejt o
4, » G A Th TSI 3 T gredt a=|

Question Number : 180 Question Id : 9983677006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hedd T TOC @ Hlel AT dATFT UG &7

Options:

1. v HAlBL o Tk =157 3 T gralt s
2. » AEL o Uk maT 3T vk gredt s
3. * HeAlgY o Ueh €187 3N T gTaT s
4. = FANET o vk o1gr 3T v gredy S=
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Sub-Section Number: 1
Sub-Section 1d: 998367436
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983677007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TG’ & U= 3

Options:

1. * 3RTeI<
2. % theld
3. % Sell
4. v Iy

Question Number : 181 Question Id : 9983677007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘M T IIIGT &
Options:

1. = 3RfAg
2. % Shold
3.« Tall
4. v T8

Question Number : 182 Question Id : 9983677008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v afg
2. % A
3. % PO
4.« T

Question Number : 182 Question Id : 9983677008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Tcr’wwﬁ'amiﬁaﬁ%’:

Options:



ol
#®

o,

Question Number : 183 Question Id : 9983677009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt Targar Taiaamit 37

Options:

1. * TopeuT
2.« I
3. = T
4. % 31

Question Number : 183 Question Id : 9983677009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = fopgor
2. v ®OT
3. » TQUT
4. = 3L

Question Number : 184 Question Id : 9983677010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IS ThgepT T 372

Options:

1. * hHeT

2. % UG
3. v el



4, = TId

Question Number : 184 Question 1d : 9983677010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3 ToREeRrT TITIGET &7

Options:

1. = shHl
2. » HHG

M

3. v dlcel

4. = gad

Question Number : 185 Question Id : 9983677011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = S8
2. % SO
3. * gYdHR]
4. v gl

Question Number : 185 Question Id : 9983677011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = SIS

2. % IS

3. » FEAHJ
4., v Joal

Question Number : 186 Question Id : 9983677012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ITUE” T TelIq <TeC; 2



Options:

1. * g

2. v g
3. = MdeT
4, = 3T

Question Number : 186 Question Id : 9983677012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘MAE T TAHT ¢TeE, &

Options:

1. = THEIE

2.«;—*?{3‘@‘6
3. » fodga

4, = 3TeeT

Question Number : 187 Question 1d : 9983677013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“3rer T el g

Options:

Question Number : 187 Question Id : 9983677013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘372 T T9ellH BIEM:

Options:

1. v 3T
2. = AT
3. = 3¢



4, = AL

Question Number : 188 Question Id : 9983677014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T [hgepr el g?

Options:

1. % T
2. % 3T
3. v 3WT
4, = Ih

Question Number : 188 Question Id : 9983677014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = Fqat
2. % 3T
3. v AT
4. = o b

Question Number : 189 Question 1d : 9983677015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g I AT TSy g1’ Uieh o LGilTchd SIec; DT TeellH gIT:

Options:

1. = &l
2. % Teremer
3. vy
4. = g5

Question Number : 189 Question 1d : 9983677015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG B AT YT F1° Gl & Iehd e HT [dellA G

Options:




Question Number : 190 Question Id : 9983677016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Frozr T e 2

Options:

1. = g
2. v gcg
3. % ST
4, % THTOT

Question Number : 190 Question Id : 9983677016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THIT &1 Taald &

Options:

1. = d2g
2. v O
3. = Sfdld
4. = THATOT

Sub-Section Number: 2
Sub-Section 1d: 998367437
Question Shuffling Allowed : Yes

Question Id : 9983677017 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

(Question Label : Comprehension



STl TEU Y WEer @t UGt I8 MY T &b ST Iyl

WRT T I AT AAAT H STHNT i A T FIATEATS, i TP R ST o
T 3rcdd Agecaqul gl HIT Tad=dT el Aich @I Yelen ol oIt gl HIT
TSI T UH & T TId=7dT W el &l gl W AT gE Ol TR al
& 3N T it <1tk UeT Hear g1 77 7 St & 39 T ot avir &F 1
ATHACITC egeredT Uei TUqEdT = o7 @i &t #IRT = FH1ST & o7 & I
UTa #§ et ThaT AT § Ugel (U1 & CH Pl SelTl idd: HIRT gRar
gl gl #RT dl gog Dl ele e gl Therddr g o 7 oot &y 7 &
AT TS Hid H FHT S g1 g SIE 3NTEd Sit &l o & Jcug gem HRT
ATCHGTAT g1 P Fahcl1| TCHGAT P ATelT lTeh GO P T ST 3l
THTOT 7 319 § Teherd[ddt T AT gaim #1X7 37 3ifded gAY g Sl ot
9T f g1 gt ATl OF W ST ool S Wi HRT & G Tg1 1 #RT T
TORIer T TaX TTRIT 3TR 9T TATDIX Tgi of, T AT &t 7 g1 Tl T Guerar
<hTl HIRT STter Ui 99 6T o ST gepl i1 §RT = Terd=dr &f 9 a9
ToT T T eITT gt STeT ST Feh

Sub questions

Question Number : 191 Question Id : 9983677018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Terer # fohgenT 3o g7

Options:

1. v 81T
2.  wgredt
3. % oT&HIdTS

4, % 3MUSTel

Question Number : 192 Question Id : 9983677019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TITSr ® “CHT T 3T &
Options:

1. = AL
2. % 30T



3. » UG

4, v AR

Question Number : 193 Question Id : 9983677020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e P ad T

Options:

1. = 3idgg
2. % AT

3. % heUdAT

4, v dldIdre

Question Number : 194 Question Id : 9983677021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI & g Pl T DI Har g?

Options:

1. = 99
2. ® gcg
3.vUH

4, » giday

Question Number : 195 Question Id : 9983677022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TOqIaT &7 3T 3

Options:

1. v 1O T8 T
2. % HIJ WUTT T=d
3. % U¥ YU TS
4, * W T4 TG

Question Id : 9983677017 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



s feU 37T FTeITer T TGHT IS AT YAl & e AoV

HRT T ATEH 31T TAATA A YT HT T&] TF STeIRare hr
P ST & o7 3/cdd Agca ol &1 ART TdFar U i =
ciTeh ofdTel eeTcll 81 HRT FAo[sg 1 YA FIa hT TTATAT T
Sol T Bl UH AT gad T fOTaR Iar § 3 fawre $
oTferd UeT el &1 HRT o & o 3 T@T Y ol &r ar
HIHCATET SaedT U TUqdcdT o o & o1 #/7 o AT 4
oSel o Y4 YNGR H @OY [HATI TATST & Ugel Ul & GHel
T S| 3A: HRT TGRPT TEAAT &1 FRT HT Feg P AT
EET &1 fopaedr & T ART wor &1 7T A gAT ) AT 7
AT 38 &I & S 39Ed Sl I g8 & 3cUed glaT| HART
MIcHASCT dal T Tohdll AT il grell =god gay¥ i
§ SIAT &1 YATT of glel & fohaafaar 1 ferdror gam #1r 3R
MR AT IE AT ar odT hr S &r 27 38 7 ave
el I &1 AT F T e 1 A A BT FT T AT AN
ZIOdT TR el T, o IO hT o ar Thdr Iverd Tl #AR1T
Sildel Ud HHN T g el el M| ART o TIAFAT T A
T foram dr gaRT A8l STy ST Tehl|

Sub questions

Question Number : 191 Question Id : 9983677018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H TohEehT Iooll 87

Options:

1. v #RT
2. = AT




3. = ACHES

4. = 3MUSToT

Question Number : 192 Question Id : 9983677019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H THeT' T 3R g

Options:

1. % AT
2. % 3UET
3. = gRE"

4. v AN

Question Number : 193 Question Id : 9983677020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toraedr 1 319 &

Options:

1. = g™
2. % AT
3. % ol

4. v RIS

Question Number : 194 Question Id : 9983677021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HST & ged & [d8dR Sl AT 87

Options:

1. = HgH
2. » "I
3. v UH
4. = Jre




Question Number : 195 Question Id : 9983677022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 3Ter &

Options:

1. v TUq 91 T3

2. AT T4Tel Ty

L% IH JUTT I

3
4. = TH TUTT T

Sub-Section Number: 3
Sub-Section 1d: 998367438
Question Shuffling Allowed : Yes

Question Id : 9983677023 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



STl TEU Y WEer @t UGt I8 MY T &b ST Iyl

died & eier § Trment T Qs el Fied & a&gira IR i 7 T gl
=G o & IR Fied drer a1 Wifdd JATUR ZIaT g1 Wildd ATUR §
AT, QTdglad qUT aui-IATd Pr o1 3MTdT gl Tg! AT 3T
TeTdee, B aTa | I3l gl ATFY = HelT 3N Tiged & TG § Fiegar,
& GTATISIR TIE, [OTRIcHS 3T § Tell, Holl &l
ToTd T FieJmET Redr 3nie; fawdl W foem fhar g1 wred & fa=me &r
T oTe § 3 Aradaniear = Thar gl Tg Id TIET EUTCHED T4
37T G MTRYTT Al oI T IMTTCdIoT & APCT Dl 37U 37 3MTehTT
AT TGT 2l ATFGATC) I LATEAIT Telierdh T TATHR O UG @l 5
T o oliepeiias il TgUSd § 3%, Gied & &9 T Hid DI JTTchIT P
399 3[UHT GoHT P TATAT Agea Te YTUTerdT U Hel Hraddre, AT 8
T Uepic 3N 3 317 JURUT 30 3T § T eI g Tebd 3 3 7 3G
Gied &t 9TeET af 7967 # UTagiad URRATAIT & URUTAS=T Uey gt
g ICTE @ Tl T ST Ueh &7 & 1T ah T YT g1 FehdlT g, g SEL
Telq a1 |1 g YondT gl T g &< § Fied oy TiGI-cT-TGT acetar gdr gl

Sub questions

Question Number : 196 Question Id : 9983677024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTRITST T a0y [au 2

Options:

1. = ATGHIC,
2. = GIeHTe
3. v HTogdTel e ATE

4. % oTth Sia-

Question Number : 197 Question Id : 9983677025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST T 3 &

Options:

1. = Te=Teit



2. v TSl
3. % 39N
4, * A

Question Number : 198 Question Id : 9983677026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T A 3

Options:

1. v 39w
2. % GO

3.« [
4, % he U]

Question Number : 199 Question Id : 9983677027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUGL T 37 &

Options:

1. = gred
2. v ITE
3. % Ty

4, * 3T

Question Number : 200 Question Id : 9983677028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & IR Fied BT TR AT 32

Options:

1. * TORIRYTRT
2. % cho-]

3. * Ui
4. v oI Site

Question Id : 9983677023 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)




Question Label : Comprehension

Are faU 910 JTeATT T IRt & AT TREAl %k 3cad AoV

died & deg # foane! &1 v a9t died F aEqera sman @
ST AT &1 TH T & AR Hied Y FT Afdd R g
g1 #ifaed 3muR & g, Cfagraes auT gar-feufa & ara
3T &1 TET [arary AR Fameare &1 a1 o 3aar g1 A
A Ferr T wifged & wwer A dedery, deateia
ATHIToleh TTET, [AORARTcHS AT H Fell, sholl bl JATT
O diedemei frear anfg [{var oww aw far & A &
Bt &1 TR 915 & 3o ARGl o Far &1 I8 37ed
TaET ®UTcHF 19T mqufrﬁvgvamﬁqﬂm a
Ho[sd 1 3Tl 3 3TN LT T8 &1 ATRaarar
SISARMENT 3Telehl T TUITRRT & 3 W ¢ F 3
cllehoildel ohl IELSAT H 33, Tled & =T & Ald &l
TR hY 3TH ol ToldT Tl TARN HAgcd vd W0TdcdT
SaTel | ATREAIG ATl § o Uhic 3T 38 3eg 3Tl
HYel 3T H o eI & Tohd & 3T o 31GeT| Wed hr Agen
ar #Aeeg #H Ufcsrias aRfeufcRl & qRonAeaey dar gdr g
3ETE0T & fT ST v & F @l & v X g §hT §, T6
qEY o ToT oTET o7 & Fohal &1 Uk &1 3o # dHigd Sy didl-al-
dTel Scordl I&dT gl

Sub questions

Question Number : 196 Question Id : 9983677024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IETeT T GUF TawyT &:

Options:

1. % HAFOIG
2. = HigAemed
3. v ATFHAET TleeneT

4. % ollsh Siide]

Question Number : 197 Question Id : 9983677025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT T Y B
Options:

1. % TaarelT
2. v 3fderel
3. » AH
4, = ALY

Question Number : 198 Question Id : 9983677026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Heled T AT &

Options:

1. v 3IH
2. « A
3. = I{ET
4. = Fegel

Question Number : 199 Question Id : 9983677027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IURIOT T T &

Options:




v Tedel
T roTel
x 3R 0T

2

ol
#®

Question Number : 200 Question Id : 9983677028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATFAATE, & 3faR dled T TR F47 §7

Options:

1. = SORYgRT

2.
3. % Yhida
4

v ol Sad



